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33661114 Stunwuhi 0,005% 24; Q< hwin 0 6000 0,0
33661114 blnwuhy 0,005% 2u; < hwin 450 4000 1800.0
33661120 Unpbhuh hhnpnpinphry 1%-10; < hwin 450 1200 540,0
33661123 Sphutiwhpnhu 2%-14; < hwin 0 500 0,0
33661136 Hhuwqbugus 10dg/20; < huwin 100 2000 200,0
33661135 Uhnwqnqud 15dq 30; q< huwtn 428 500 214,0
33691176 Upinbiwywq 50uq/504; G< hwtn 0 140 0,0
33691176 Upinbiwgjug 50dg/504; < hwin 169000 100 16900,0
33611350 Uulnpphuwppnt 5%-50] < hwin 0 12000 0,0
33611350 UulnpphUwppnt 5% 24, < huwin 355 12000 4260
33611130 Winpnuwhtp uny$wn midnype 0,1%-14; < hwn 55 3500 192,5
33621160 Udhunywwpnuwpent 250 1 < hwin 0 990 0,0
33621160 Udhunluwwpnbwppnt 250 § < hwn 1100 270 297.0
33631370 Uwpwyniphnuwih plighjuin 10dg/;-2,50 < hwun 309,9 2000 619.8
33661183 Shuwwnpwyniphnudh plighjwin 50q/2,50; < hwun 0 1000 0,0
33661184 Shuwwpwyniphnudh plighjwn 50g/2,50; < hwtn 1008 500 504,0
33661115 Pruyhywlwyht 40 < huwn 2148 1200 257.8
33691138 Synilyng 5%-2500; 9L hwun 2459 1200 295.1
33691138 Syniyng 5%-5000) < hwwn 265,9 4800 1228.3
33691138 Qynilyng 40% 54 a< hwin 0 3000 0,0
33691139 Synilyng 40% 50 9L hwn 37,97 1500 57,0
33661153 “Hipuwdtipwgnt wluwlwphy 100 9< hwwn 0 40 0,0
33661153 "Hipuwdbpwqnt wlwlwpehy 104 <L hwn 610 38 232
33661153 “Hipuwdbinwgnt 4dg/d;-1d; < hwwn 23.4 10000 234,0
33671130 Vhpluhprpwdhl 1%-10, < hwwn 208 40000 832,0
33621400 Towwdhu 40ug/d; 50 < hwwn 580 1500 870,0
33611170 “Hpnunwytipht 40ug/d) 24; < hwwn 36,8 2500 92,0
33611170 “pnunwytiph 40dq 9< hwun 0 1200 0,0
33631310 FhlynPbuwly 75 dq 30[ a< huwn 67,8 12000 813,6
33651127 “tnpuhghlyjhup h/p 100ug < hwwn 133,19 1000 1332
33621760 Ruwwuyphy 10dg a< hwn 4,85 15000 72,8
33691202 Ewnwdghjwin 2500/ 20] a< hw 150 7000 1050.0
33621290 Ewhubi$phu /wnpbuwiht/ 0,12%- 14 9L hwn 80 2000 160,0
33611370 f@hwuhU pinppry 50da/dy 1] a< huwu 26,9 5000 134,5
33661113 @hnyblnw) bwwuphnud 1,0q < hwwn 2840 480 1363.2
33691141 Fpywdhu pdoljwlwl K hwin 0 8000 0.0
33661110 handynipwiu 2504 < hwin 0 200 0,0
33661110 hqn$ynipuwt 1004 < huwn 7449.9 800 5959.9
33691176 hunnubunwghl dndhly < huwn 0 480 0,0
33631283 Lhghunwph 10dg < hwin 12,5 4800 60,0
: 33661116 Lhnnyuwyhuh hhnpnpinph 2%-204; < hwwn 756 500 378,0
33651138 Lun$inpuwght |-p b/t 0.5% 1004 < hwwn 0 600 0,0
33651138 Lun$inpuwghts |-p U/t 0.5% 1004 A< hwun 1019,9 200 204,0
33651138 Lun$npuwght nhin 500dg < huwwn 78,8 2000 157.6
33611420 “wighnuwih qyniyntiusn 10%-5d; < hwun 88 2000 176,0
33691134 Ywihnuwh pinphn 4%-2004; < hwin 468.8 300 140,6
33691213 “bunwuh Ywplwppwht pwlnbphwutp / Lwphut < hwwn 0 6000 0.0
33651212 Cwhuwihwyinwgdwl wuwwnnpuht 0,50 < hwwn 550 600 330,0
33621100 Lhwwphu 5000dy/d) 5; < hwun 938 16000 150080




33691814 <hnpopuhkphy oujw 6%-5004) < hwwn 3500 210 735,0
33621610 Uwitunng 10%-4000; a9 huwin 850 350 297.5
33691218 UwqUbighnu wuwwpuwinh wbnpwhhnpwan, Guihnd ac it 480 1500 7200
. wuwwpunwnh htidhhhnpwn 104
33691145 Uwgqubighnud unybuin 25% 501 K hwwn 28,45 8000 227.6
33661127 Utinwidhgny Uwinphnud 50% 20 a< huin 37,6 40000 1504.0
33611160 Ubunnlynuipuidin 5q/i; 20¢ < hwin K 12000 4932
33691112 Ubiinpnupnwgn 1004 <L hwwn 199,8 10000 1998,0
33651139 Unpuh$jopuwght wiuwlwpehi 0,5% 5u| < hwwn 1199.9 40 48,0
33651139 Unpuh$jopuwight 2504 < hwn 0 1800 0,0
33691154 3nhtipun| 1004} < hwin 8650 1000 8650,0
33691154 3nhbipun| 504 L hwwn 4900 2000 9800,0
33691157 3nnhpuwlni 1004 < hwn 0 180 0,0
33691136 Lwwnphnwh pinphn, 0,9% 2500 < hwin 0 36000 0,0
33691136 Lwunphnuwh pinphn 0,9% 2504 < hwin 21,6 18000 3988.8
33691136 Lwwphnuh pinphn 0,9% 1004 < huwn 0 19200 0,0
33691136 Luwnphnudh piapfn, 0,9% 1000, < huwn 2156 9600 2069.8
33691136 Lwwnphnuih pinphn 0,9% 5004; < hwin 0 45000 0,0
33691136 Lunphnudp pinphin 0,9% 5000 e huin 207.4 22500 5116.5
33691136 Lwunphnuih pinphn, 0,9% 10004; L hwwn 0 24000 0,0
33691136 Lwunphnuh pinphny 0,9% 10004 < hwwn 268.8 12000 3225.6
33691136 Lwunphnuh pinphn 0,9% 3000 < hwtn 0 150 0,0
33691136 Lwnphnuwh pinphn 0,9% 30004 < hwn 1500 45 67.5
33691129 Lunnphnudh piaphn, Guihnudh piphn, yuighnudh piaphry ac Wi 0 24000 0.0
. 5004;
33691129 Luwunphnudh pinphn, Yuihnuh pianhn.Guighnidh piaphn a< huwtn 27,4 12000 27288
5004
33691129 [Lwwnphnudh pinphny, Ywihnuwh piaphn,Yyuighnwh pinphn 2500  9< hwn 273 1200 272,8
33691135 Lwwphnudh phljwppnbun 8,4% 204; e hwun 0 800 0.0
33691136 Luwnphnuh phlywppnbwin 8.4% 200 A< [ 1008 200 201,6
33691133 ULbipwplydwt gnip 30004 < hwn 0 1400 0,0
33691133 ULbipwpldwl gnip 30004 < hwn 1500 450 675,0
33621330 Lhbipwihn 25%- 20 < hwn 0 1500 0.0
33621330 Uhlbpuiihn 25%- 24; < huwtn 178 280 49,8
33611390 Mhphnnpuht h/p 5%- 14 < hwwn 0 15000 0,0
33631350 Mhuwbilnipnupnuih ppnihy 4idg/24) < hwun 0 3000 0,0
33631350 Mhwtiynipnupnudh ppndhn 4dq/20; < hwwn 1037,53 1500 1556.3
33631230 Tndhnynli jnny 10% 10004 ac huwn 2900 300 870,0
33661170 Mpnluht /Lnynlwiht/ 0,5% 2500 < hwn 504 120 60,5
33661181 Ulin$ynipwii 2504 < hwn 0 80 0,0
33661181 Ulindynipwt 25004 9< hwin 37780 40 1511,2
33631360 Unipuwidtipnupnud 2% 5 q< hwwn 189,9 2400 455,8
33621730 dbipwuuidhy 0,25% 24| < hwin 100 300 30,0
33621240 Shuwlynpwwihl 500dlg 14, < huin 0 3000 0,0
33621730 Shwulynpwiwdhu 5004dg 14 < hwtn 26,9 1000 26,9
33691236 Lnpnwhpwihuh hhnpnpinphn 204dg 14} < hwwn 107.5 600 64,5
33611100 Odbupwqni 20dg < hwin 9.3 30000 279,0
733641100 Opupunnghl -p SUUZT Tu[ a< huwin 177 4800 849.6
33691191 bnubnihwhnutip/tubughwy/5i; G< hwin 630 400 252,0
33691823 Snpdwinbhhr/nidnyp 9L g 350 1200 420,0
33651245 Stughuwphl 1000dg a< huin 0 150 0,0
33651245 Shdghunwpht 1000dg 9< hwin 9999.9 50 500,0
33651227 “wlwppwght 200dq < hwn 0 100 0,0
33651230 “topunnniphght 2ug/d| 250 < hwtn 0 200 0,0
33651230 Topunnniphght 20/ 25U a9 huwin 7950 30 2385
33651231 tunnwnghn 100dg/54 < hwun 0 200 0.0
33651231 Ewnnwnghn 100dq/54; < hwn 36999 120 444,0
33651243 MNuwlhnuwputi 100dg/16,7 < hwun 0 400 0,0
33651243 Muwyjhinwputi 100dg/16,7 4y K hwin 9000 200 1800.0
33691280 Shuuyuwinht 0,5 dg/dg 1004 a9 huin 0 200 0,0
33691280 Shuwywinhu 0,5 dg/d| 1004} 9L hwun 7999,8 120 960,0
33651248 Opuwihuwinh 100dgq L hwwn 0 150 0,0
33651248 Opuwihuywwnhu 100dg < hwtn 7986.,6 50 399,33
33651241 Sunnpnipwgh 500dq < hwun 0 150 0
33651241 Bunpnipwghy 500ug, < huwn 3799.8 110 417,978
33661131 Stunpwpphuiw( nhwn 100dg Q< hwin 0 102 0




33661131 S$hunpwpphinw| nhin 100dq < hwn 20 100 2
33691176 Ughunpndhghu ogwpwl 200dg/54d; 37,54 < hwn 0 30 0
33691176 Ughwnpndhght ogwpuwly 200dg/54) 37,50 Q< hwwn 2400 16 38,4

33651163 Udhlwght 500uq/24; < hwtn 0 100 0

33691176 Udpunytu hupwin 1004 K hwin 4080 40 163.2

Udopuhghihu/

3365010 I W hg lt? ki 9¢ | hun 0 30 0
33651110 Udwhghihts 0,59 QL hwin 215 1000 215
33651110 Udwhghiht 1,0 < hwtn 255 1000 255
33651111 Udopuhghihty/pluynywuwppnt upy.1000dg +200dg Q< hwn 0 200 0

33651111 Udopuhghiht/plwynywuwppnt upy.10004g+200dg Q< hwwn 1200 100 120
33611350 Uulnpphuwppnt, nnunngnhn Q< hwn 9 1000 L)
33691728 Ybignt ulid, putipndnpd40q 9< hwwn 218 40 8,72

33631210 Phunwdbpwgnu punip 1dq/q 15¢ 9< hwwn 0 20 0

33631210 Pinwibpwgnu punip 1dg/q 15¢ 9< hwwn 900 10 9

Pupwwinpnuhnuwih ppndhry, $eunnbipny (- 2us. 261d4g/dg+
» 33691176 . - 52[(30“%& 2%&1 — < hwin 0 100 0
wpwnpnwhnuwh ppndhn, $hunintipng (-p ous. 261 +

33691176 4 i 8.8 e Og[L“ L 9<¢ | hun 2700 50 135
33611472 Shgtipny dndhyubip ninhnunhpuyh 1q < hwwn 12,9 2000 225,8

: 33611472 Shglipn| dhypnhnquw 5u; < hwwn 104 1500 156
33611472 Shgtipn dhypnhnquw 104y < hwun 19 250 29,75
33691138 Qynilyng 5%-5000) L hwin 0 15000 0
33691138 Qynilyng 5%-5000] < hwin 247.8 6000 1486.8

33691208 Fyniynqu (nliputnpng) 100ug/dy 1004 Q<L hwn 0 800 0

33691208 Qyniynqui (nkipuinpng) 1004g/dy 1004 < hwn 480 750 360

33691208 Jynilynqus (nipunpng) 100dg/d) 5004 < hwn 0 300 0
33691208 Fyniynqui (nkiputnpng) 100dg/d} 5004 < hwn 580 120 69,6
33671124 | o"Prwdhgh, ““9“W°hr°wq"';:llhwhwrahlvbn 3dg/i+ 1l g o huwtn 1197,9 20 23.958

i 33631310 “hiynpliuwly 'mepf\lmdh undhly 12,50q < hwwn 12,9 500 56,45

33631310 “Hhiyn$huwly bwinphnuwh dndhly 25dq K hwin 12,9 500 56,45

33631310 Hiyn$buwy bwinphnud 10dg/q 50g nnunnn G< hwtn 550 15 8,25

33691202 Enwdghjwn 250dq < hwwn 38 800 30,4
33691141 FpYwdhu pdolwlwl < hwn 0 7500 0
33691141 (3pYwdhu pdolwlwu < hwwn 3300 1500 4950

33631290 hpnuypn$bu ogwpwly 100dg/5d  1004; < hwwn 0 250 0

33631290 bpnuypndbu opwpwly 100dg/5d; 1004 < hwun 700 100 70

33611310 hlunyht jupéwinl wgnbigniejudp-104] K hwun 0 30 0

33611420 L pnbhpwgwd Ybunwuh jupbwppduht dulptubn < huitn 0 2000 0
33621100 Ywighnuwih gyniyntwn 500dg < hwn 0 1000 0

33691176 Yitidwuwnhu upy.1dg/2u < hwn 0 600 0
33141166 Lbuwwphu punip 25 < hwwn 0 15 0

33621640 Zhnpnlynpunhgnu punily 10dg/q 15 < hwwn 0 15 0

Linpwdpbiuhyny, dbphinipwghy

) 33631200 unip. 7.506/0.+4000/q. 400 < hwun 0 300 0
33691112 Ubiinpnuhnwany, pinphtipupnhl punip 1% 20,0 K hwun 0 20 0
33691176 Uopuh$iopuwighti |-p 1,6ug/d,250 U < hwun 0 450 0
33691176 Opuhdtinwignihh hhnpnpinphn 0,25dg/4| 104 K hwun 0 40 0

33691136 Lwwnphnuh pinphn (- 10%) 504| < hwn 530 720 381.6

33651149 Uhunwinht 500000 U < hwwn 15,7 400 6,28
33661122 Muwpwgbinwiing opwpwly 120uq/5d) 1004 < hwwn 399 20 7,98
33691176 Lungbinhphgh Ywphjutip kipphu punniudwl Sdg/uj, 200 QL hwin 2650 5 13,25
33651145 Mnjhdhpuht B , ubindhght , nipuwdtipwanu pph uwnty 154 < hwn 0 20 0

33631230 Mnypnnt jnn_punip 10 % 20q < hwwn 260 30 7.8

33671113 Uwipnunwdn gnnughp 1004lg/nnqu 200 < hwn 0 300 0
33671113 Uwpnunwing gnnughp 100dyg/nnqu 201 < huwin 1460 165 240,9

33691500 Spwlbpuwiwppnt nhun 250dg 3 huwin 127 400 50,8

8tpnipopuhd nihy Uny
33651141 nudnush 7504, 100] < hwun 0 500 0
33661122 Nuwpuwgtinwdng nhin 500dg < hwun 6,5 5000 32,5
33661122 Muwpuwgtinwdng dndhlyutip 150dq 9L hwwn 50,9 130 6,617

3366112 Mwpwgbnwing_dndhlubp 80Ug o< hwn 04 80 3,392

i 33631150 8hulh opuprp _punip 100dg 25 < hwwn 227,85 8 1,8228

33651134 Shwpnpinpuwght nhin 500ug Q< hwwn 28,9 3000 86,7

33611120 Swininhnht |hnphjugywd upl (-ph 20dg. 5] (ndhy < hwin 0 75 0




33611140 OUnwliubitnpnt 2uq/dg 44| ac hwin 235 1500 3525
33691192 $hlwqny, (hpnuiht whwbgwlweh| 5 A< hwin 504 8 4,032
33651150 Syniynuwgni 50dg < hwun 0 120 0
33651150 $yniynuwqgni 50dg QL hwn 116,84 70 8.1788
33651134 Shupn$iopuwght, ntipuwdtinwgn n/ywtunyp 10 di L hwun 0 4 0
33651134 8huypn$lopuwight, ntipuwdtinwgnu n/jufunyp 10 4y QL hwwn 2016 2 4,032
33671129 | Lhinpndnipwy, intivnpwluht, hbwant wlywlgh Ywph S | %< hwin 0 9 0
33671129 Lhunpn$nipwy, nbnpwluyh, $huwgnu whwgh Ywpehi Sd; < hwwn 315 8 2,52
33691226 Spwiwnng 1004q 24 ac hwin 200 500 100
33691226 Spwiwnny/nhipulyinnuypndlii 75dq/25dq < hwtn 250 150 37,5
33661123 Sphdbiwhpnht 2%-1dg 9< hwtn 780 400 312
33621420 Uwnnpywuwnwinht 40dg. < hwtn 80 6000 480
33671125 Udppnpuny opwpuwly 100 d < hwwn 800 60 48
33671114 Udhun$hihu 2,4%-5 4 L hwwn 48 10000 480
33621390 Udpnnuwpnu 150dg 34 < hwn 650 1200 780
33651163 Udhlwght 500dq/24; <L hwn 2440 120 2928
33691176 Uwhyuwpwt nhin 5dg 9< hwun 507 120 60,84
33621740 Udinnhuh 10dg, < huwin 10 6000 60
33651110 Udughghhu+ unypwlnwd 1000dg/5000g < hwn 3000 80 240
33661121 Ugtiinhjuwihghiwpepent 500dq < hwun 6 3000 18
33621761 Ugtinhuwihghjwppent, dwqutighnwh hhnpopupry Q< hwun 25 4500 12,5
33691153 Fwphnuwh uny$win thngh 100g < hwn 200 240 48
33691189 Phunwhhuinhu 24idg < hwin 120 2400 288
33691811 Phuwlnnhy dndhl 10dg < hwn 42,6 3000 127,8
33621720 Phunupnini 5dg QL hwwn 30 12000 360
33621360 Shgtiphy inhupwinpwn/ Lhipngihgtiph 1,50 < hwwn 750 1600 1200
33661153 Hipuwdbpwgnt witwlwpehy 104; < hwun 750 40 30
33621250 “hpuinpwl 70 - 5000 < hwwn 2400 60 144
33621250 “Haputnpwt 40 - 50004 q< hwwn 2400 180 432
33631250 Epwun| pdoljwljwl 96% 9L |hwp 1200 500 600
33621120 Euopuwwwpht Uwwnphnu 4000UY 0,44 9L hwn 2400 600 1440
33611180 Lwlwnnyng 200 4 <L hwn 2300 40 92
33661116 Lhnnluwjhup hphnpnpinphn 2%-24; 9L hwn 38 4000 152
33691192 Lhnnlwjht_hhnpnpinppn, bwhub$pht 200 QL hwin 900 150 135
33691203 Lnqupunwl nhn 100dg < hwn 52,5 560 29,4
33691213 Lhnhjwgyws hhunwuh jwpbwppywhu dwupkubip < hwwn 131 2000 262
33691213 Ybtnwuh Ywpuwppdwiht pwlnbphwutp / Lwphub Q< hwun 45 5000 225
33691176 Ywppbitnnght 100dlg/dy 14y < hwun 22680 10 2268
33621690 Ywpybtinhin 25dq < hwn 50 2800 140
33631300 Yhunnupndbiu 50uq/uj 20 L hwn 180 1000 180
733691176 G buwutnhl 1] < huin 20 400 88
33621140 Ynwhnngpti| 75uq 9L hwn 250 12000 3000
Cwlwubiuhy/wuwnhutiywhl/u wnwhw
33621643 L dh‘[“’ . L‘wu““w dh':‘ upt;ov/n s qc | jhup 3400 200 680
33621643 Cwlwubfuhg/wuwhubiywnhly/ whunwhwuhs dhengutip/ ac Fun 7200 40 288
- e
_peg shonqliip/Hnunwpuwintihhn 20% unwlinge 5000, 3 | o 9900 £ =
Cwlwubuhy/wlnhubiynhly/u whnwhwuhg dhgngutin/ NN
33621643 nhntigh-N-utiphj-wnih(opuhtphy) wdnuhnuwih wnpuhnuwn, QL hup 13500 60 810
nhntight nhutiphy winuhnuwh paphn, plipdbunutinh hwdwihp
Zwhwubfuhy/wunhubunhl/i wiunwhwuhg dhongubp/
33621643 wnihhbipuwitiphiiugniwuhnhuh hhnpnpinphn. NN-phu(3 < thuinp 8000 80 640
wihunwpnwhi) nonbighiwdh
Cwlwubfuhs/wunhubunhly/u whunwhwuhy
33621641 Shonaub "}hhur:mnl w l.;l.'b :;u‘gi':l “uh et < hwwn 4500 60 270
Cwlywubuhy/wbinhutiynhl/l whunwhuiuhg dhgngutin/ £
. 33621641 il it Q< hwn 15 12000 180
33621490 Ubiphinnww 250dq < hwn 45 1500 67,5
33661125 Utitnwdhgny, bwinphnuiwlwt dnunhhnpwn,whunndbunth ac i 270 200 54
hhnpnpinphn, $uwhyphupnuh ppndhn 20
33621190 Ubuwnhnuh bwwnphnud phuny$hun 1%-1d; 9L hwun 120 1200 144
33621700 Utitnnwpning 50dq < hwwn 18 3000 54
33651143 Utipnybubd 1000dq QL hwwn 4500 100 450




33641200 Uhgnupnuwnng nhin 200d4q < hwwn 180 1200 216
33641210 Uhpliyphuwnt nhin 200dg < hwwn 2756 60 165,36
33651139 Uopuh$iopuwght 0,16% 250 q< hwin 1500 180 270

33691170 3nuwjpnufiy 1004 a< hwn 16500 300 4950
33691154 3nhbipun| 504 K hwun 5500 2800 15400
733621750 Lh$bnhught 10dg q< hwtn 31 5000 155

33691223 LuwnpnuwphUp juighnwiwluiu wn 0,34 L hwwn 2200 600 1320

33691223 Lwnpnuyuwiphup Yuighnwwlwt wn 0,64; K hwwn 3500 2400 8400
33691144 Lwwphnwh phnuny$wn 30%- 104 < hwwn 55 4000 220

33691136 Lwwnphnuwdh pinphn 0,9% 30004 < hwun 1500 150 225
33661147 ULtinuwinhquht 0,05%- 14; < hwn 60 1000 60

33611150 Muwulypbwwnplu < hwn 32 5000 160,0

33661122 Muwpuwgbnwdng 1004 L hwwn 2500 160 400,0

33611470 Mwlnnuypugn nhin 20dq K hwun 60 1400 84,0

33611471 Muwuwnnypwqn| 40dq < hwuwn 1870 50 93,5
33621480 Mbphungnuyphi nhun 10dq < hwun 96 1500 144,0

33691186 Mhpwgbitnwidh 20%-5u; < hwin 55 6000 330.0
33691176 Mpnqbiuintipnu 200dq AL hwwn 360 560 201,6

33642210 Mptinuhgninu 5dq < hwwn 8 5000 40,0
33661112 Mpnwnny upd. 10dg/d; 200 < hwn 700 3200 2240.0

33621777 Mhyjwpopuwpuwl 15dg q< hwwn 750 1260 945.0
33621777 Nhywpopuwpwt 20dq < hwn 825 1120 9240
33691200 Ubunghnutip A,B nhuin < hwun 2 8000 176,0
33621620 Uwhpnunjwlyunt 25dg < hwun 50 10000 500,0

33661181 Ulindynipw 2504 < hwwn 55000 20 1100,0

33661154 Shunpwlwiht 1% wiuwlwpehi 104 9L hwin 2900 60 174,0

33631380 Snyujiphgnt h/p 1504g < huwin 80 1200 96,0
~ 33691500 Spwbipuwdwppnt 204 G hwun 2350 200 470,0
~ 33691500 Spwubipuwdwppent 500ug Q< hwn 208 600 124,8
33691176 Shlywgpbinp nhin 90dg. < hwwn 830 56 46,5

33651116 8kbwgnihu 1q < hwuwn 250 14000 3500,0

33651123 Stininwpuhd 1q < huin 400 8000 3200.0

33651141 8tnipnpuhd 750dg < hwin 1200 1000 1200.0

33651118 8ti$unphwpunt 1g KL hwwn 150 24000 3600.0
33651134 Shuwpnropuwght whuwlwphy 0,3% 104 < hwn 700 40 28,0
33631241 Lnphtipupnhuh uwhpuwiht |- q< hwp 1500 250 375,0
33631200 Lnpuwidbithlyng, dbiphinipwghy punty 40q < hwuwn 300 240 72,0

33651192 0ah wnihywibun hwlywpnyu < hwun 120000 1 120,0

33611120 S$winuinpnpu nhin 20dq < hwwn 28 8000 2240

33611120 Sbuwiinnhinhu 20dq RS hwun 980 350 343,0
33651150 Symynuwgny 150dq 9< hwin 150 1000 150,0
33691176 Snipwighihuh puniy 25¢ < hwn 250 200 50,0
33691176 Dnupwghihh thngh 0.2 < huwin 12 2000 24,0

33621230 bnjwppnt 5dg < hwwn 4 4800 19,2

33661123 Sphubwhpnhu 2%-1d; 9L hwn 780 150 117,0

33651163 Udhlwghl 5000g/24; < hwin 2440 120 2928
33651110 Udwhghiht +unypuwljinwd 1000dg/500dg < hwun 3000 80 240,0
33651112 Udopuhghiht/pjuynywuwppnt ity 250ug/54) 1004; Q< hwun 1060 30 31,8
33691176 Uwjhpuwpwt nhwn 5dq < hwwn 507 120 60,8

33621390 Udhnnwpnt 200dq < hwun 80 3000 240,0

33691153 Puwphnudh uny$wn thinph 100g A< hwin 300 240 72,0

33671126 Ppndhbpupl 8ug a< hwtn 3 3000 9,0
33611472 Yhgbipn dndhlubip 2,11 < hwwn 138 800 110.4
33621360 Shgbiphy bnhupunpwin/ Upnpngihgtiph 0,5dq < hwwn 10 400 4,0
33691213 Lhndpjwgywd Ytunwuh jwplwppyuwhu dwupkubp < hwun 131 1600 209.6
33611200 Loujbpwihn 20g < hwwn 12 600 72
33661116 Lpnnljwihuh h/p gnnuighp 5%-154; < hwwn 1322 50 66,1

33661116 Lhnnyuyhuh h/p punip 5%-15q < hwn 835 20 16,7

33651199 Ywinwnnipjwl nhid wwindwunwnip < hwun 7000 50 350,0
33671135 Ywighnuwih pinphn 54 9L hwn 86 400 34,4

313621643 Cwlwubuhy/wunhubywnhly/u wjunwhwuhs dhengutip/ ac i 7200 30 216.0
. $tipdbunwnhy |Jwagny dhong

Culjubibfuhy/wbnhubugnhly/s whonwhwbhs dhengutin/ N.N-
33621643 nhntighi-N-dtiphi-wnih(opuptphy) wdnuhnwh wnpuhnuwn, Q< hwp 13500 80 1080.0
nhnbight nhubphy wdnbihnuwh piaphe, $bndblinttinh hudwihn
33141166 Zhwwpht_punip 25q. 9l hwin 620 20 12.4




33621640 <hnpnlynpinhgnt pundy 100g/q 159 L hwin 265 30 8.0
33651191 Lwlwpnunyhuwhl phénty npwy U < huwn 2700 3 8.1
33651191 Cwlwpnuinnyhwht 2h6nly wnhuy £ QL hwwn 4800 3 14,4
33651191 Cwlwpnuinnyhuwjhl phény whw & 9L hwn 5400 3 16,2
33621270 Ukupnih (ndnyp dbiph| hgnywitipwppyntd G< hwin 18 200 3,6
33691112 Utinpnuhnwgny, pinphbipupnht nnunnn 20q 4L hwun 655 20 13.1
33631260 3nnh uuy. (ndnyp 300 L hwwn 430 100 43,0
33651128 Uhupndpng \hu 50uq a9 hwin 5 1000 5,0
33691199 Uhypdwpht 2250 9 hwn 24 800 19,2
33691176 Shlwgpbinp nhuin 90dg < hwtn 830 56 46,5
33651321 Skpounwpupiy/unypuljuiwyd 1000dg/500uq AL hwwn 3000 60 180,0
3365141 Stipnipnpupd 750dq < hwwn 1320 500 660.0
33631491 8tinhphghu 10dg < huwin 7 600 42,6
33691176 Shynubuwnniwn witwlwphy 1%-54; < hwun 3180 25 79,5
33671116 Lupnibnwgnihi_gnnuighp peh 104 hwun 1500 30 45,0
33691176 Opuhutinwgnihtih h/p pph Yupehy 0,5dq/d| 104] < hwun 680 40 27.2
33651192 0ah wnihjwibun hwlywenyu <L hwun 120000 1 120,0
33621590 Snipnutidhn, 40dq < hwwn 4 2000 8,0
33621590 Dnipnubidhn 1% 24| < hwwn 29,4 32000 940,8
33691176 Shuwgnu, (hnnluwjht 154 L hwun 1100 30 33.0
33691200 Ubkunghnutip uu hwn 20 2000 40,0
3367113 Uwipnunwin| gnnuighp uu hwwn 2250 6 13,5
24111190 J3luwppnt quq uu hwin 5500 50 275,0
33651143 Ubpnukubid 1000dg Uu hwwn 4900 10 49,0
33651126 Qhlunwdhght 20( uu hwin 67 600 40,2
33671113 Uwpnunwdn| gnnuighp uu hwn 804 60 48,2
33691800 Plwghgnuiwp 100dg uu hwun 100000 1 100,0
33661112 Mpnuyndny 100g/4; 200 uu hun 465 215 100,0
33611280 G hljuahn MR rhin 60U Uu hwin 96.2 300 28,9
33691176 hunndtiwnwght dndhly uu hwin 97 360 34,9
33621600 hunwuwwdhn nhun 1.5dq uu huwin 18,833 1800 33.9
33621100 Ywighnuh gyniyntiun 500dg uu hwn 2 500 11,0
33141165 Ujpnuihu 20% 1004 uu hwin 4 25000 100,0
33621590 Snipnubidhn 1% 24} uu hwwn 294 3400 100,0
Judbup 190509,2
PJTLULUL UUMPLUUNPARULER B4 MUrUGULER
33111100 @wjhu nbiungbu uwpp < hwwn 9300000 1 9300,0
A9 Lnnwgnn ghuiinph$nigq < hwwn 0 1 0,0
33141136 Upuwnnpnghs upbitnp < hwwn 0 200 0,0
33141136 Upuwnnpnghs Ywpbitnp <L hwn 6200 60 372,0
33141136 Uuwnnpnphs ywpbitnp <L hwuwn 8100 900 7290.0
33141136 Utuwinnpnphs Ywptinputiph hwdwpuwdnt < hwwn 0 700 0,0
33141136 Utunnpnzhs Ywpbiinputiph hwywpudn < hwwn 12400 400 4960.0
33141184 Utunnpnphs ninnnphs hhnpndhy -0,018 j Q< hwun 16000 40 640,0
33141136 UuwhpwghnU Ywpbinp < hwwn 0 10 0,0
33141136 Uuwhpwghnu Ywpbunp q< hwwn 105000 3 315,0
33141137 Punuwhl wpbinkp pwpdp 60wl 1 qc huwin 0 200 0,0
33141137 Pw|nuwjht Ywpbinbp pupdp tpdwu 1 Q< hwwn 32800 100 3280,0
33141137 Pwinbiwjht Ywpbnbp pwpdp 60wt 2 < hwn 31000 300 9300,0
33141137 Puwinbwihu Ywpbinp 1 < hwwn 0 220 0,0
3314137 Pwnuwjhl jwptinp 1 q< hwin 32800 100 3280.0
3314137 Pw(nuwjht Ywpkinp 2 < hwwn 0 300 0,0
33141137 Puwnbwht Ywpkinp 2 < hwn 31000 150 4650,0
33141137 Pwnbwpt ywpbnp 3 4L hwwn 0 50 0.0
3314137 Puwnuwjht hwpbinp OTW < hwwn 0 5 0.0
33141179 Pdylywlwl hwywpwdniubp wughngpwhhuwih hwdwp < hwun 19800 1200 23760.0
33141136 Gwyn, Ywpbinp 1 < hwn 17800 600 10680,0
33141136 Swjn Ywpbinp 2 < hwin 0 70 0,0
33141211 Shd 60ud < hwin 0 150 0,0
33141211 “Twuwnwlh dugnn Yuy QL hwwn 0 50 0,0
33111310 Hanwuwjwin uinbuwn 1 L hwwn 89000 260 23140,0
33111310 Hanwwwtn unkun 2 < hwtn 0 260 0,0
33111310 Hinwwwwn unbiun 2 < hwwn 95000 130 12350,0
33111310 Yanwuwin unbln 3 a< hwwn 0 60 0,0
33111310 Hanwwwin uinbiun 3 9< hwin 79000 30 2370.0
3311310 “Hr 1 uinbiuin 4 Q< hwwn 0 30 0,0

| N




33141192

wwnnunwlubiph hwdwp

33141211 Eiypnn nppdwywp dwiwuwlwynp uwpptiph < hwwn 0 2 0,0
33141211 bntiu$ywinnp 20/30wnwgtiwht thwpkip Ynwhinunny LS hwin 0 400 0,0
33141211 brbu$ywinnp 20/30wnwguwih thwpbip Ynuhinung < hwuwn 10000 280 2800.0
33141211 hnbu$ywinnp thwpbp 20 By K hwin 0 50 0,0
3314121 bnbudywnnp thwpbe 20 5u 9< hwn 6000 33 198,0
33141211 brbiubywinnp thwpbip Ynwhinnny RS hwwn 0 100 0,0
33141211 Pnbupywinnp thwpbip Ynupinunyg < huwin 10000 50 500,0
33141136 hunpuwrynwubip 6wéwuswihu < hwun 10900 1500 16350,0
33141136 huwnpwrynwutip $tinpuwy 10ud < hwn 0 250 0,0
33141136 huwnpwnynwbip $bdnpw 10ud < hwwn 10900 150 1635,0
33141184 Ynpnuwp minnnpnhy 0,6-0,7q < hwwn 0 80 0.0
33141184 Ynpnlwp mnnnprhs 0,6-0,7g < hwwn 35000 40 1400,0
33141184 Ynpnuwp Juwjtip 0,4-0,5q < hwwn 0 120 0,0
33141184 Ynpnlwp Yuw)tip CTO < hwn 0 10 0,0
33141184 Ynpnuwp Juybip CTO 1 < hwn 0 5 0.0
33141184 Ynpnlwp Yuybip CTO 2 K huwwn 0 5 0,0
33141184 Ynpnbwp Yuytip hhnpndhi 9L hwun 33000 500 16500,0
33141136 Uhlypnlywpbup Ynpnuwp wunph q< hwwn 0 5 0.0
33141136 Ninnnpnhs Ywpbivnp < hwn 0 50 0,0
33141136 Ninnnpnhs Ywpbiinp < hwwn 21000 20 420,0
33181170 Upjw hnupwht ghd q< hwwn 1490 11500 17135,0
33181150 <huduwht juinwuniph pwppphe K< hwwn 1350 11500 15525,0
33181120 Hhuwihquwnnp < hwun 3600 1200 4320.0
33181120 “Hhwihquwnnp < hwn 0 4000 0,0
33181120 THhwihquwnp q< hwn 2750 2500 6875,0
33181120 Hhwihquwnnp < hwin 3000 1440 4320.0
33181120 Yhwihqunnp < hwwn 0 4000 0,0
33181120 Hhwihquwnnp 9L hwtn 3400 2400 8160.0
33181160 (3pYwihl funwlnip < hwun 3250 2500 81250
33181160 Yhunpnuwppyh unwyne < hwun 10000 160 1600,0
33141149 Shuwnnywiht wubinubip qupybipwlwhu < hwwn 195 9000 1755,0
33141149 S$huwnnywiht wubinubip Bpwljuht < hwwn 195 9000 1755,0
33141149 Shunnywihu wubinubp quplybipwlwhu < hwwn 196 2500 490,0
33141149 Shunnywiht wubnubp pwluht < hwwn 196 2500 490,0
33181120 Shywnp htidnnhwihgh uwpph < hwtn 75000 15 1125,0
33141136 Ywpbinbp hidnnhwihgh L hwwn 8200 50 410,0
33141192 Uupwynulyph wnwewytipht wpgbjwihwyynn hwppuwly < hwn 0 10 0,0
33141192 Uupwlnuyph wnwowybipht wpgbijwthwlynn hwppwy A< hwin 102000 5 510,0
33141192 Uupwlh Yuppwynp hwppwly < hwwn 0 6 0,0
33141192 Uupwlp Yuwppwynp hwppwl q< hwn 102000 3 306,0
33141192 Pugniynulph dninwlw wpgbjwithwlynn hwppuwly 9< hwin 0 25 0.0
33141192 Puwgniynulph dninwlw wpgbjwiwlynn hwppwy < hwwn 132000 13 1716,0
33141192 Puwgniynulyph |nphug dbiju < hwn 0 10 0,0
33141192 Upudniuytniuh wpgbjwihwlynn hwppwy 9< hwn 0 4 0,0
33141192 Updniuytniuh wpgbjwihwlynn hwppwl < hwn 102000 2 204,0
33141192 Bwébwugnulph hinwlw thnihnfuwlwl wulywdp ac K 0 15 00
x wngtiwthwlnn hwppuwl
33141192 e (o e ol ac huwtn 102000 8 816.0
. wpgbjwhwldnn hwppwl
33141192 Ugnnpnulyph +<U hwnianf‘l:l;x:nwnjwl YEuinpnuwlwu ac bk 0 10 0.0
33141192 Kanpnulgpiy e hopply By eiupAtilNud a< | hwn | 162000 5 810,0
upnnunwlip
33141192 Ugnnuyph MU hwppwlh Yndwpbuhnt wunnunwly < hwun 0 10 0,0
33141192 Ugnnulyph U hwppwlh Yndwptiuhnt wunnunwy < hwn 3000 5 15,0
33141192 Ugnpnulyph hbinwlw npuwht wpgbjwihwyynn hwppwy < hwwn 0 6 0,0
33141192 Ugnpnuyph hbnwlw npuwht wpgbjwihwyynn hwppwy < hwwn 162000 3 486,0
33141192 Utid ninph i Yw npuwht wpgbjwhwlynn hwppwy < hwwn 0 10 0,0
33141192 Ubd ninph dnunwljw npuwht wpgbjwihwlynn hwppwy 9L hwun 132000 5 660,0
33141192 Utid ninph dnunwljw Ubipuwht wpgbijwihwlynn hwppuwl 9< hwn 0 10 0,0
33141192 Utid ninph dnunwljw Ubpuwht wpgbjwthwlynn hwppuwl L hwn 132000 5 660,0
3314192 Utid ninph htinwlw dhowjht wpqbijwihwlyynn hwppwy < hwwn 0 10 0,0
33141192 Utd ninph htinwlyw dhouyht wpgbjwihwlyynn hwppwy < hwin 132000 5 660,0
33141192 Lppninph htinwlw Ynnduwht wpgbijwgwlynn hwppwy <L hwun 0 20 0,0
33141192 Lppninph htinwlw Ynnduwpt wpgbjwihwlynn hwppuwly < hwn 102000 10 1020,0
Pnpp wpgbwthwyynn Yndwpbiuhnb hwppwl 3,5 dd ac¢ B 0 10 0.0




Pnpn wngbjwthwiynn Yndupbuhnu hwppwy 3,5 ud

3314192 q< hwun 102000 5 510,0
. wunnunwlutiph hwdwp
33141192 Tt wpgbjwihwlunn Gndwpbuhnt hwppwl 4,504 ac _— o 10 0.0
” unnunwlutiph hwiw
33141192 T e 9¢ | hun 132000 5 660,0
wunnunwlutiph hwdwp
33141192 Ugnpnubph Guin6 wpnpuhdwy dbtu Yuihwphsny q< hwwn 0 60 0.0
33141192 Uqgnpnuliph huin6 wpnpuhdwy dku Guihwphsny G< hwn 162000 30 4860,0
33141192 Ugnpnuliph bipjwp wpnpuhdwy dtitu Ywihwphsny < hwwn 0 30 0,0
33141192 Uqgnpnulyph bplwp wpnpuhdwy dtifu Ywihwpheny L huwwn 162000 15 2430.0
3314192 Ugnnulyph wpnpuhdw dtfuh 6,404 upnnunwly L hwwn 0 90 0,0
33141192 Ugnnulyph wpnpuhdwy dtfup 6,400 upnnunwly < hwn 3000 45 135,0
33141192 Uqnnulph wpnpuhuw dkfuh 8,004 wunnunwl < hwn 0 90 0,0
33141192 Ugnnulph wpnpupiw dbfup 8,004 wunnunwly < hwwn 3000 45 135,0
33141192 Utd ninph |nphug dbifu < hwwn 0 15 0,0
33141192 Utd ninph (nphg dbju q<c hwin 162000 8 1296.0
33141192 3,9 00 ;nphlg wununwl dhtuh huidw < hwin 0 20 0.0
33141192 3,9 ud |nphug wununwl dbuh hwdwp < hwwn 3000 10 30,0
33141192 Uqnnulph wpnpupdw dbfuh 4,904 |nphug wwnnunwl L hwwn 0 120 0,0
33141192 Ugnnulph wpnpuhiw dbfuh 4,904 (nphtg wwnnunwy < hwwn 3000 60 180,0
3314192 2,400 wpgbiwihwlnn wununwly < hwwn 0 50 0,0
33141192 2,400 wpgbiwthwlnn wunnunwly K hwwn 3000 25 75,0
3314192 2,700 wununwly q< hwn 0 25 0,0
33141192 2,704 uinnunwly < hwn 3000 13 39,0
33141192 3,500 wpqbijwihwlnn uwnughng wunnunwl < hwwn 0 150 0,0
33141192 3,500 wpqbijwthwlynn uwnughng wunnunwl < hwwn 3000 80 240,0
33141192 3,500 wpgbijwthwynn Ynpunhlw) wnnunwly Q<L hwn 0 100 0,0
33141192 3,504 wpghjwthwlnn npuplw] winnunwl q< hwun 3000 50 150,0
33141192 3,500 Ynpunhlyw) wnnunwl huptwpwljynn Q<L hwwn 0 150 0.0
33141192 3,500 Ynpunplyw) wunnunwl huptwpwlynn <L hwwn 3000 80 240,0
33141192 4,000 uwynughng wnnunwl QL hwwn 0 20 0.0
33141192 4,004 uynlighnq wnnunwl L hwtn 3000 10 30,0
33141192 4,004 Juiynywgywd uwnughng wunnuwnwy Q< hwwn 0 40 0,0
33141192 4,000 Ywbynywgywd uwnughng '} Q< hwun 3000 20 60,0
33141192 4,504 Ynpunhluw| wunnunwl huptuwpwlynn < hwwn 0 80 0,0
33141192 4,500 Ynpunhluwy wnnunwl hupuwpwlynn < hwwn 3000 40 120,0
33141192 5,000 wpgbijwthwlynn uwnlghng wunnunwl < hwtn 0 100 0.0
33141192 5,004 wpgbjwthwlynn uwnughng wnnunwy < hwun 3000 50 150,0
3314192 5,000 wpgbjwihwynn Ynpunhlyuy wy |y < hwn 0 50 0,0
33141192 5,00t wpgbijwthwlynn Ynpuhlw) wnnunwy < hwwn 3000 25 75,0
33141192 7,00udd Yyndwpbupnl wnnunwy K hwtn 0 50 0,0
33141192 npp Yndwptiuhnt hwppewl 3,5 8 wunwnwlubiph hwdwp q< hwwn 0 10 0,0
33141192 Pnpp yndwyptiuhnt hwppwy 3,5 g wununwlubiph hwdwp Q< hwun 102000 5 510,0
t 33141192 Ubin Yndwpbupnu hwppwl 4,500 Yubiph hwdwp < hwwn 0 10 0,0
33141192 Utin_Yndwpbupnt hwppwl 4,500 wnnunwlubiph hwdwp L hwwn 132000 5 660.0
33141192 Uty tppnpn wntpnigup hwppwl 3,5 U0 wunnunwlubph qc i 0 10 0.0
hwiwp
ssngz | U0 onmape wnipnigun uneuly 3.5 0l wsnunultbit 1 qe | pun 102000 5 510,0
= __hwdwp
33141192 Lwjt Yndwpliuhnt hwppwy 4,5 6§ wnunwlubiph hwdwn q< hwwn 0 10 0,0
33141192 Lwju Ynduptiupnt hwppwl 4,5 W Lutiph hwdwp < hwwn 162000 5 8100
33141192 Nalynbunpniighnt hwppwl 3,5 dd wunnunwlutiph hwdwp Q< hwn 0 10 0,0
33141192 Nbynuunpnyghnt hwppwl 3,5 dd wnnunwlutiph hudwp Q< hwwn 102000 5 510,0
33141192 gynun 1,5 dd 30ud qL hwwn 1500 200 300.,0
33141192 gynin 2,0 U 30ud < hwin 1500 200 300,0
33141192 Tjnin 2,5 dd 30ud < hwwn 1500 200 300,0
3373121 Lbipwluwiht nuwuywy <l hwun 37000 250 9250.0
33731120 Lbipwljuwht (hgpuwinpuwd tuwithnil nuugujwy Q< hwn 0 250 0,0
33731120 Ubipwluwiht (hgpwynpyuwsd thwihny nuujtywl < hwn 50000 200 10000,0
33731120 Ubpwluwyht thwipniy hhnpnnp nuwjljwl < hwun 0 50 0,0
33731120 Ubpwluwht thwihndy hpnpndnp nuuwjuywly 9 hwwn 49000 30 1470.0
3373120 Unun$nihl dwindp hhgpndhy g thuyinit nuuglyul q<L hwn 0 50 0.0




33731120 Unun$nihly dwindh hppndhy ng thwyiniu nuujlywl < hwwn 50000 30 1500,0
33141211 Shyntunyuh$hlwghwh hwywpwsdnt < hwun 0 102 0,0
33141212 bhynkdnyup$hlywghuwih hwywpwdnt 9L hwwn 60000 72 4320.0
33141155 Ywbwy UGuwpnidwlwb-Yipwnnd AL hwwn 0 250 0,0
33141156 Nwbwl UGuwpnidwlwb-Ypwnnd q< hwtn 4700 150 705,0
33141155 Twlwl whuwpnidwlwl < hwuwn 0 252 0,0
33141156 bl whuwpnidwlwt G< hwwn 5500 180 990,0
33141212 Ulyuwippwhwinwluwu ubiply < hwn 0 50 0.0
33141213 Uluwippwhwinwlwl btipl < huwwn 11000 40 440,0
33141212 Uluwyhpwhwinwlywl utiply 9< hwwn 0 70 0,0
33141212 UGuwppwhwinwlu Ukl a< huwin 3000 50 150,0
3314121 Nuuyywlyh Yuy n on 12.30/10.0004 A< hwin 0 25 0,0
_331412n Nuwbywlp Yuwunywp on 14.30/12.0004 < hwwn 0 25 0,0
33141211 Nuwbjwyh Yuwunywp on 14.30/12.0004 K hwwn 6500 20 130,0
33141211 Nuuywlh Yuwunywp on 15.30/13.00ud < hwun 0 25 0.0
33141211 Nuutywlh Ywuwunywp on 15.30/13.0040 Q< hwwn 6500 20 130,0
33191620 UYuwyppwpnidwljwt ghp. untiph dwdyng uwtinwup < hwun 0 700 0,0
33191620 UYuwyhpwpnidwluwl dhp. unbiphy dwdling uwbinuh < hwwn 1200 600 720,0
33141211 Uhuwpnidwlwl pwppph < hwun 0 200 0,0
33141211 Ulhuwpnidwlwu pwppphe < hwwn 4200 150 630,0
33731140 Uwnbiphy bpwljuwhl (ndnype 5004 < hwwn 0 210 0,0
33731141 Uwnbiphy Ubpwtwght |nidnyp_ 500 < hwin 6400 180 1152,0
33731140 hgnunuhly,untiphy,wwhpngbit |ndnyp <L hwwn 2500 400 1000,0
33141211 Ubiphigbynynquihti Yhulynkjwuwnply /qby/ < hwn 0 250 0,0
33141212 Utiphigbynynquiht Yhuyntjwunply /gty 9L hwn 6200 200 1240,0
33141224 dhuptyunndhwih hwiwp bwhiwbbudws gnun hwwpwdnt < hwwn 0 12 0,0
33141225 dhuinpkyunndhwih hwdwp bwhuwbbugwd gnun hwjwpwdnt < hwwn 110000 6 660,0
33141184 duwhip 0,35 QL hwun 0 150 0,0
33141184 Yuwbip 0,35 < hwin 19500 30 585,0
33141184 dwhbip nhwgunuwnhly 0,35 < hwn 0 50 0.0
33141184 Lbijpnyuwtip 0,014 < hwn 0 50 0,0
33141184 Lbjpnjwtp 0,014 <L hwwn 100000 3 300,0
33141184 Lkjpnydhlypnywbip 0,014 < hwun 0 50 0.0
33141184 Ubypnddhlpnduibip 0,014 < hwn 100000 10 1000.0
33141184 Sy 2hp a< hwn 0 50 0,0
33141184 Sw)n 2hp < hwn 78000 5 390,0
33141136 Minnnprhs wptinbip < hwwn 0 100 0,0
33141136 Ninnnpnhs Yuptinbp < hwun 55000 20 1100,0
33141136 Uuwhpwghnt Yupbiubip/utpnhugwghy q< hwwn 0 50 0,0
33141136 Uuuhpwghnl fupbintip/ubjpnhuywahy 9L hwwn 480000 5 24000
33141136 Uuwhpwghnt Ywpbinbip/wliph$tiphly hwuwubihniejwdp QL hwtn 0 50 0.0
33141136 Uhypnywpbintip < hwwn 0 20 0.0
33141136 Lbjpndhlypnjwptinntip < hwin 0 50 0,0
33111310 Uwnbuw/ntiinphybip < hwin 0 50 0,0
33111310 Uwnbuw/ntinnphytip < hwin 462800 5 2314,0
33111310 Lbjpnuinbun L hwwn 0 20 0,0
33191510 Pnfutitipwpwliwl hwiluwpg/pwpdp Supdwl <L hwwn 0 200 0,0
3314121 Gnninh thwlwuny < hwun 0 200 0,0
33191620 Uwnbiph| uwywu 9L hwn 180 150 27,0
33141142 Lbipwplhs thwlwuny Q< hwwn 0 50 0.0
33141211 hu$nighn fjunnnywl AL hwn 0 100 0,0
33141136 TFhwqununhly Ywpbinkp < hwn 0 100 0,0
33141136 “hwqunuwnhl “Ywptivnbkp L hwn 17000 30 510,0
33141136 “Hhwqunuwnhly ubjpn Ywpbnbp < hwwn 0 50 0,0
33141137 "Hhuwqunuwnhl bbypn Ywpbintip < hwun 25000 20 500.,0
33141211 Ynubljinp Ywal Q< hwun 0 200 0,0
33141211 Ynublwinp Ywal < hwn 18000 20 360,0
33141136 Uhlpnlwpbiptip < hwn 0 30 0,0
33141136 Uhypnywpbiptip < hwtn 230000 5 1150,0
33111310 Uwnbun Q< hwin 0 15 0,0
33141211 @pndphg wwpunuwunn gnpdhp < hwin 0 15 0,0
33141136 Uuwhpwghnt wpebutp 9L hwtn 0 40 0.0
33141136 Uuwhpwghnt Ywpbinbp < hwn 395000 15 5925.0
33111310 Uwnbuw/nbunphybip QL hwin 0 20 0,0




3314121 Uuwhpwghnt Ywpbinbp thnpp nhwdbnpny 9L hwun 0 20 0,0
3314121 Uuwhpwghnt Ywptintip thnpp nhwdtinnpny <L hwwn 230000 1 230,0
33141136 Uhlypnlwpbinbp A< hwn 0 20 0.0
33141184 Ltjpndhypnyusybip < hwin 0 30 0,0
33141136 Ywpbnbip phplinuhly K hwwn 20 5000 100,0
33141136 Ywpbinbp Ubpbpwluwht 246 3 huwin 45,9 20000 918,0
33141136 Ywpbinbp Ubiptipwlwhu 226 q< hwn 37 10000 370,0
33141136 Ywplintip ubpipwluwhu 206 < hwn 37 10000 370,0
33111230 Uyunndwn pwdwuwynphsh dwypwluwiutip 10-2004l < hwwn 0,552 80000 44,2
33111240 Ugunndwwn pwdwuwinphsh dwjpwlwiutip 100-1000dly < hwuwn 1,548 40000 61,9
33141115 doljwlwl pwipwy ny hwhwubiudwd 100g ukipddynn < hwwn 148 4000 592,0
33141115 Pdojwlwl pwgh$ /dwpyw/ < hwun 0 60000 0,0
33141116 Pdoljwlwl pwugh$ /dwpyw/ < hwin 62,97 30000 1889,1
33141178 “Hintiph Ubipwpldwl hwdwywpgtip QL hwwn 0 100000 0.0
33141179 “tanbiph Ubpwpldwu hwdwlwpgbip R hwwn 35 50000 1750,0
33141111 Yuygniu uybinwuh 5*500 Ywnphg QL hwwn 199 8000 1592,0
33141111 Yuygnit uybinwuh 2,5*500 Yuinphg < hwun 82 5000 410,0
33141156 Qbtinungubip pdolwljwl ng untiphy Q< hwun 0 200000 0,0
33141157 Qbnunglbip pdplwluil ng unbiphy ac huwin 10 100000 1000.0
33141100 Ubljwuqudjw oguwgnpddwl phiup-tinhq gyniyndtivph < hwwn 0 5000 0,0
33141100 Ublwuqudjw oquwgnpdiwl pliup-tiphq gyniyndtinph < hwn 0 4000 0,0
33141100 Ublwuqudjw ogunwgnpddwl pliup-tiphq gyniyndtiinph < hwwn 90 2000 180,0
3314173 Uhqpunntuhs 9< hwin 97,5 5000 487.5
33141142 Ubipwplhsubn 1,0 3 hwin 9.7 80000 776.0
33141142 Ltipwplyhsutip 2,0 < hwin 0 100000 0.0
33141143 Ubipwplipsutip 2,0 A< hwin 9,69 50000 484.5
33141142 Ubpwplihsutin 5.0 < hwin 9.9 160000 1584.0
33141142 Ubipwplihsutip 10,0 q< huwin 0 140000 0.0
33141143 Ubipwplhsutip 10,0 < hwin 14,5 70000 1015,0
33141142 ULbipwplyhsutip 10,0 lock < hwn 24,5 5000 122,5
33141157 ULguinwpubip U uwjpbip < hwwn 18 5000 90,0
33161220 Swwnb| thuyinb K< hwwn 4 60000 240,0
33141211 Shd ipyupuwgnighs 150ud q< hwin 260 5000 1300.0
33141110 Yhpwlwwbip 7714 ng hwlwubiugwd < hwun 80 10000 800,0
33141110 Yhpwlwwtip 10*16 ng hwlywubjudwd < hwin 136 8000 1088.0
33141110 dhpwlwwbp 5710 ng hulwubu]ws < hwin 45 6000 270,0
33191310 Pnpswunpbp Juynwht wpjwl punhwunp puunipjwl ac i 16.7 48000 801.6
. hwdwp
33191310 Pnpdwunphip Juinwwhu dhjwhu < hwwn 24,8 36000 892,8
33191310 ®npdwunputip Na ghnpwn < hwwn 16,7 12000 200.4
33141144 Nnuninbinuiht wubin nippnpnhgny < hwtn 0 2000 0,0
33141158 Uhpwpnidwljwl dkinungubip N7 < hwtn 90 6000 540,0
33141158 Uphpwpnidwlwu dbnungutip N7,5 Q< hwwn 88 8000 704,0
33141158 Uhpwpnidwlyu dbnungubip N8 < hwin 88 7500 660,0
33141158 Uhpwpnidwlwl &knungutip N8.5 < hwwn 88 3000 264,0
33141121 Yhpwpnidwlwu phijtip L)L 1 < hwuwn 200 180 36,0
33141121 Yhpwpnidwlwl phitp Linu 0 < hwun 200 180 36,0
j 33141121 Yhpwpnidwlwu phtip L) nu 2/0 < hwun 200 240 48,0
33141121 Uhpwpnidwlwu phitip Liynu 3/0 < hwun 200 240 48,0
33141121 Uppwpnidwluil phtip Ltyinu 10/0 q< hwn 0 24 0,0
33141121 dppwpnidwljwl phitp 4tingnun 0 < hwun 0 600 0,0
33141121 Yhpwpnidwlwu phjtp Yhingnun 2/0 < hwun 280 900 252,0
33141121 Uhpwpnidwlwl phitip Ykingnun 3/0 Q< hwun 280 900 252,0
33141121 Uhpwpnidwlwl pijtip Ytingnun 4/0 < hwun 280 480 134,4
33141121 Yhpwpnidwlwl phitp Mnhwpnuhitu 0 < hwun 169 600 101,4
33141121 Yhpwpnidwlwl phitip Mnjhypnwhitu 1 K hwun 180 600 108,0
33141121 Yhpwpnidwlw phitp Mnjhwpnuhibu 2/0 < hwwn 169 600 101,4
33141121 Uhpwpnidwlwb phitip Mnthwypnwhytu 3/0 < hwn 180 720 129,6
33141121 Uhpwpnidwlwu phitip Mnihwpnuwhtu 4/0 < hwn 180 480 86,4
3314121 Uhpwpnidwlwl phiip Mnhgwlwnpl 0 9L hwn 309 900 278,1
33141121 Yhpwpnidwlwu philtip Mnjhgulwnhu 1 Q< hwwn 315 960 302,4
33141121 Uhpwpnidwlwl phiip Mnjhgulnpl 2/0 < hwn 306 600 183,6
33141121 Yhpwpnidwlwl phitip Mnjhguluhu 3/0 < hwwn 309 600 185,4
33141121 Yhpwpnidwlwu phitip Mnjhqulwnpu 4/0 q< hwuwn 330 240 79,2
33141143 Unlingli 250,0 < hwin 168 500 84,0
33141143 Ununghy 1g < hwun 680 240 163,2




33141183 Ybpwypdwl gnun, 6G.8G < hwin 44 600 26,4
33141211 Stuwwnwhsh spdwhu pninp < hwwn 0 80 0,0
33141211 Unwplwjwlwl wwwlh 2h$ nuipnng <K hwwn 6,84 18000 123.1

33141211 Dwdljwuwwlh 9L hwun 1,86 18000 33.5

33141228 hunhlwwnnp onuwyht unbiphihqugnuingd N1000 < hwwn 6900 12 82,8
33141228 hunhlywwnnp gninpphny unbiphthquignuing L hwun 0 6 0.0
33141201 Puwfuhubp RS hwn 0 60000 0,0
33141202 Pufuhubp < huwin 2.8 20000 56,0
33711490 Muwhuwwuwlubip < hwin 0 12000 0.0

32351230 Malnghu dwwuwijbu 30°40 < hwin 0 4000 0,0
33141136 Uuwhpwghnt Ywpbiuntip/wbph$tiphy hwuwubhnipjuiip <L hwwn 0 50 0,0
33141136 Uhypnywpbintip < hwwn 0 20 0,0
33141136 Lbjpndhlypnljwptintp L hwwn 0 50 0,0
33141184 Lbjpndhypnyguwytip < hwn 0 30 0,0
33141137 Pwinuwjh Ywpbnp 3 < hwwn 0 50 0,0

3314137 Puwnuwjht Ywptinp OTW < hwn 0 5 0,0

33141136 Suwjn Ywptinp 2 < hwn 0 70 0,0

33141211 “hwuwnwlh 6ugnn Yy < hwwn 0 50 0,0

33111310 Yonwuwin unbuwn 4 < huwn 0 30 0,0
33141211 Ejbpnn nhpuwywp dwidwbwlwdnp uwppbiph < hwn 0 2 0,0
33141184 Ynpnuwp Yuwytip 0,4-0,5q QL hwun 0 120 0,0
33141184 Ynpnuwp Juwtip CTO 9L hwn 0 10 0,0
33141184 Ynpntwp Juybip CTO 1 9< hwn 0 5 0,0

33141184 Ynpnuwp Yuybip CTO 2 < hwin 0 5 0,0
33141136 Uhlypnlwpbitnp Ynpnuwp wunph <L hwun 0 5 0,0
33141137 Pwinuwjhu Ywpbnp gudpwpnphy 9L hwun 0 60 0,0
33141137 Pwinuwht ywpbinp gudpupndh| NC < hwwn 0 100 0,0
33141137 Puwinuwjht ywpbnp gwdpupnph OTW < hwwn 0 10 0,0

33111310 bupwwupwlwhu qupytipwyh unbun < hwwn 0 1 0,0
33141208 bunpwnynwtip $bdnpwy (Ywpé) 9L hwn 0 4 0,0

33141208 hunpwnynwbip $bdnpwy (Gplwp) Q< hwwn 0 4 0,0
33111310 Uwnbiuwn whiph$liphly 9< hwin 0 20 0,0
33141137 “Hhwuinwghnt Ywpbinkp wtph$iphly < hwun 0 50 0,0
33111310 Ninnnpnhs jwp < hwn 0 20 0.0
33111310 Minnnpnhs (wp < hwin 0 4 0,0

33111310 Nunnprhs jwip <L hwun 0 2 0,0

33111310 Ninnnpnhs jwp QL hwwn 0 2 0,0
33191310 Ynuwdl hwuinwyny 114) thnpdwlnp L hwwn 0 500 0,0

38431710 Mhubivn wwuintiph < hwn 30 1000 30,0
38431710 Ugnndun whwbin Ywenghly 100-1000dy K hwwn 6491,66 4 26,0

38431720 Mhubinp dwypwnhp Shpnpny < hwn 15,625 384 6,0

33141136 Lbipwpquiunw)ht ubpwpldwl Ywpbinbp < hwun 0 100 0.0
33141137 Lbipwpquunw)hu ubpwplydwl Ywpbinbp < hwun 5850 50 292,5
33141130 Swpw wuwihgh ng unbiphy 1004 9L hwwn 26,667 6000 160,0
33141410 Swpw wuwihgh uwnbiph 1004 q< hwuwn 28 4000 113.3
33141202 EUS-h biblunpnng 9L hwun 50 20000 1000.0
33141202 Eiijunpnn wubinuhu < hwwn 1920 50 96,0

33141202 Ejtluinpnn dwlbipbuwht dud/oguin s hwwn 1150 72 82,8

33141202 Ellnpnn wwuhy < hwun 28000 2 56,0
33141202 Lnnuitiguwl jwp K hwwn 34000 1 34,0
33141136 Ywpbintip dhqujht tnwéjnin 206G < hwwn 350 160 56,0
33141136 Yuwptintip Uhquipl tinwéjnin 186G < hwun 350 60 21,0
33141136 Ywpbnbip wuwhpwghnu s hwwn 103 1200 123,6

33141136 Ywpbinbp EdpniEynndhwih Snquipunh npwh < hwwn 16500 15 2475

33141100 Utiwuqudjw ogunwgnpddwt pliup-tinhq gyniyndtinph < hwwn 150 5000 750,0

33141142 Ubpwnlhsubip 50,0 a< hwwn 90 3000 270,0
33141142 Ubipwplhsubip 60,0 < hwwn 100 800 80,0
33141138 Ywynyw ppwppywduwhu < hwun 200 1000 200,0
33141138 Ywynyw ppwjhu < hwun 15000 2 30,0

3314157 Lgunwpubip U uwjpbip < hwwn 30 1000 30,0
33141112 Uybnuh uwbwuwghly o< hwin 7 10000 70,0

33141110 Yppwlwwtip/ Shyuwlwy 3d*20ud QL hwn 650 720 468,0
33141120 Utindhsubip q< huwin 80 1000 80.0
33141211 Suwlg énnywdph < hwtn 10000 100 1000.0
33141205 Eunnunpwiubiwg funnnyuwl dwudtinnny < hwwn 450 500 225,0
33141205 Eunnunpuwlubiwg funnnyuwly 9< hww 500 80 40,0




33191620 Suihsh pninp < hwin 1200 120 144,0
33161100 Eunnyhpwpnidwlwl Yunpnn wntin 24GH < hwwn 15000 25 375,0
33191310 Unbwdl hwinwyny 114) thnpdwunp < hwwn 579 500 289,5

33121180 Snundtinp unbinnulynuyny < hwn 7000 80 560,0

33141121 dhpwpnidwlwl phitip Mnigjulunhl 5/0 < hwun 670 180 120,6

33141182 "phiuwd (Enwdnpwup T-aU K hwn 6600 30 198,0
33141184 (anph npbuwdh hwlwu < hwtn 6800 30 204,0
33141182 (3nph npkiuwdubip L hwin 4200 40 168,0
33141182 Npnywjup npbuwdutip untiphy q< hwwn 1800 300 540,0

33141136 Yhtinpnuwlwl ipwlwht webintip < hwun 7200 50 360,0

33141155 Ejblnpnlnwgniughnt nuiiwly < huwwn 1000 500 500,0

33191310 Pnpawlnpubip pnpnuplhywinwihu < hwwn 60 1000 60,0

33191310 Pnpawlinpubip wjwundwut fybunnp 1.54] < hwtn 10 6000 60,0

33191310 Pnpdwunph dbp pwuuwnpuwihl fudnid < hwwn 150 1000 1500

33141183 2nun unwidnpuwihu < hwwn 103 1000 103,0

33141211 Gnninh thwljwuny Q< hwn 180 200 36,0

33141211 Mhujbntbp ELU < hwin 200 500 100,0

33141179 hudtiljunndwnh hwywpwdnt L hwwn 28 000 80 2240.0

33191620 faninp 4S3 150°110 < hwun 2600 60 156,0

33711490 Muwhywbwlutip L hwtn 60 12000 720,0
3314157 Uhypnunndh tinp < hwin 1300 300 390,0

33191280 Muwpwhhtwgbipd dinwnulywl Yunwywp < hwwn 21 000 3 63,0

33191620 Uwywu ubipddnn qluuwiwpbip q< hwwn 1500 50 75,0

33141201 Pwlupubip uu hwwn 6 16600 99,6
32351230 MHiuingbill dwuyuitu 30°40 (N 100) uu hwwn 38500 15 S71:5

38431700 Uhypnunnih ptinp NS5O uu wunth 65000 3 195,0
33141142 Ubpwplhs g Uu huwwn 20 5000 100,0

33141121 Yhpwpnidwlwl phij wnihypnwhitu uu hwwn 315 312 98,3

34141173 Uigpunniuipg Uu hwn 51 1800 91,8

33141140 Uuwhpwghnu Yupbiup Uu hwn 103 970 99.9

33791300 Pnpnupihlwnwh thnpdwunp uu hwwn 60 500 30,0

33141149 Shuwnnywjhl wubinubip qupytipwluwht uu hwwn 200 250 50,0
33141149 Shunnywjht wubinubip Epwluihu uu hwn 200 250 50,0
38431700 3tipdndwwywytit uu hwn 3400 10 34,0

31651200 EUS dwwwytu58+20 uu hwtn 900 110 99.0

38431700 Ewbunnp$/ (wpnpnnnp wwpwqu uu hwun 10 2000 20,0

38431700 fdnup 4SS 150°110 uu hwwn 2600 20 52,0

24931500 Gpluwljhy uu hwwn 8100 12 97,2

24931600 Yuyniuwgnighy uu hwn 8100 5 40,5
33141183 Uwnwdnpuwihl gnun uu hwwn 103 970 99,9

9221200 Muwpwhhu uu g 3350 40 134,0
Cunwibtp 341727,9
. £hUhULUL L3NKBEN

33211450 Ujpnidhu a< phup 0 7000 0,0

33211450 Ujpnuihu 4L phiup 1104 1000 11040
33211430 Uipw wihjwqu < phup 0 2000 0.0

33211430 Upw wihjwqu < phiup 169.8 1000 169.3

33211410 Uuywpunwwdhuninpwiudbipug AST Q<L phup 0 7000 0,0

33211410 Uuuywr \j uupbipwq AST < phup 21 2000 42,0

33211420 Uwuptwdhuninpwutipwg ALT < phiup 0 8600 0,0

33211420 Uywuhuwdhunnpwutipw) ALT < phiup 21 3000 63,0

33211140 Phipnntphu/Cunhwlniy L ninpn phihnniphuh npnpdwu phiupe- ac —_— 0 21000 0.0

hwlwpwdnt
33211140 Phipnephu/taRmyy l;:l“‘z"u’jgr‘f:"""’huh npn2uul pEUR- | q ¢ pbup 21,6 10000 216,0

33211340 Zhdngnphu L phup 0 8000 0.0

33211340 Ltingnphu < phiup 5,85 800 47

33211110 Utinhwupppu MediScreen /Utigh dtig gynilngh wgbitnnuh ac gD 17.76 8400 1492
N npnodwl phup unphwtinh hwywpwadnt

= — wup TScreen 9 qynLynan, wnjul,
uyhunwymigh, pH,Ynnuutiph.nbuwywpwp Yznh,

33211110 uhwphwttiph, (tylnghwntiiph, ninninphuhqbiuh L phihnntihup QL phiup 65,4 5000 327,0

npnpuwl phup unphwtiph hwwpuwdnt CYAN strip
wunuunb hunfing

33211160 Gnbwinpuhl CREA-Col/ YptiwwnhUhUh npnduw ptup ac phup 9,15 25000 228,8
33211160 Upbwinhubu Yhuwqu < plup 0 2000 0,0
33211160 UpbwnhUhl Yhuwqu < pbup 150 1000 150.0




: 33211310 Fpndpnuywunhuh npnoiwl pliup hwiwpwdnt L phiup 0 24000 0,0
33211310 @pndpnuywunhih npngdwl phiup hwywpwdnt q< phiup 5 12000 60,0
33211150 Uhquynip Urea-Col / Uhquyjniph phiup - huwiwpuwdnt <L phup 0 15000 0,0
33211150 Uhquitnip Urea-Col / Uhquitnieh pliup - hwjwpuidnt < phiup 2.7 7200 156,2
33211320 Zouwnhun C dhpnuuh wbinhgbuh npulwlul ac | phup 102,96 8000 8237
hwnuwptindwl ptiv
U
33211320 Supnin B Lol wlinnglih, apulgulio 9¢ | phup 66 8000 528,0
. hwjnuwpbipdwu phup
33211320 Zhwwwnhwn C Yhpniuh wnhgbh  hwynuwpbindwt phup q< phup 104,17 1728 180,0
33211320 Chywwnhwn B hpnwuh wunhgliuh  hwynuwptipdwl ptiup < phup 13,75 1728 196.,6
33211130 Fun(Guwntipn] CHOLESTEROL /Cunhwunip funjbuntiphth phiup| ac abup 0 4000 0.0
€ hwywpwdnt__
33211130 tunjtiuntipn CHOLESTEI’:&L fb‘::::hmp funjtiuntiphuh ptiup ac — 20 1000 2.0
33211130 tunjtiuntipn| /HDL- funjbiuntiphs < phup 0 400 0,0
33211290 Ywihnuwih npnpiwl phiup-hwywpwd L phiup 0 18000 0,0
33211290 Yuwihnwih npnuwl phiup-hwywpwdnt < phiup 93,6 1000 93,6
33211300 Yuwghnuh npnpdwl phiup-hwywpwdnt AL phup 0 3000 0,0
33211300 Yughnuwh npnuwl phiue-hwywpwdnt < phiup 21 1000 21,0
33691162 Lwwnphnid < phup 0 800 0,0
33211290 Lwinphnud < phup 319,95 200 64,0
Zujwunpbuunnnhgt-O Anti Streptolysina-
33211260 0/<wlwuinpbiyunnihght-0 npnpdwl phiup-hwywpwdny ASO/ Q< phup 26,4 1500 39,6
i S GhU-Uny Total protein-Col/Crhwu
. nunw| wpnunbihu-Yny Total protein-Col/Crihwunip
33211270 0,
. i uwhinwlnigh npnadwu phiy, .hw wpwdny e pLve o A0 0
33211270 Snunw( wpnunbhu-Yn| Total protein-Col/Crhwuntp ac phug 8.88 3000 26.6
N uwhunwynigh npnodwl phive hwdwpwdny/
33211470 Spnwynupb/wfuwn. ujnptin/ <L phiup 0 1000 0,0
33211470 Spnunupb/whuwn.ujniptip/ < phup 322,8 500 161.4
THudwinnpn pwlnnp Cwinlipu Rematuoid factor-
33211240 lex/MNudwinnhnwiht $wlpnnpubiph npnadw phup- Q< pliup 25,68 2000 51,4
. _hwiwpwdny/
33211120 Synilyng G-col/gyniyngh npndwl phiup hwwpwdny/ < phup 0 25000 0,0
33211120 Syniyng G-col/qynihyngh npngiwit phiup-hwiwpwdny < phiup 9,24 6000 55,4
33211250 S-nbwlnhy wpnunbihu-jwwntipu C-Reactive Protein-lex/C- ac sl 25.68 15000 3852
- nbiwlwhy uwhunwlnigh npnodwt phiup-hwywpwont
33011230 MFNM-Ywppnu RPR CARBON/Up$hihuh npnodwl phiup- ac g 33 5000 165.0
: ___hwwpwdny
3321190 Snihlynb wlinh-A /wpywb fudph Il npnuwl phiup q< phiup 24 12000 28,8
33211200 Snihlynt wuwnh-B /wpjw fudph 11l npnpdwl phup KL phiup 24 12000 28.8
33211200 8njhlynt wuwnh-AB < phiup 3,96 1000 4,0
Sn|hlynt wuwh-Unuwybip/ th D ntigniu hwdwlwpgh
21
3 1220 i i o ac phup 48 12000 57,6
33211210 Snhint wunh-Unwytip/ rh C nbigniu hwdwlwngh ac b 9 1200 10.8
wuwnhgbuh_npnodwl pliup
33211180 Sphqtighphn TRIGLECEifEi/b:gEgbnhnh npnpdwl phiup- ac i 0 2000 0.0
: ___hwdwpuidnt___
Sphaiighphn TRIGLECERIDES/Gngihgtiphnh npn2dw phiup-
33211180 - q< phup 45 500 25
Mpnunwin uwbgh$hl wlnhgbuh npwlwlwl npn2dwl phup
33m 72 0
—— h.; JwpwdnyPSA nunhwlinip [} P 0 - 0
Mpnunwin ugligh$hly wlnhgbuh npwlwlwl npn2dwl phug
332 4
3211330 hililiugiisny/PSA stinhting Q< phup 127,5 192 24,5
33211350 (dhpbinnpnuy hnpdnu HTSH < phup 0 2304 0,0
33211350 f@hpininpnuy hnpdnt HTSH < phup 135,63 768 104,2
33211370 (dhpopupu T4 < phiup 0 384 0,0
33211370 (hpopuhu T4 9L phup 171,875 96 16.5
33211370 Uquuwn phpopuht FT4 L Rhiup 0 1152 0,0
33211370 Uquun phpopuhl FT4 a< pliup 159,375 768 12,4
33211380 Gnynnphpnubl T3 < pbup 0 288 0,0
33211380 Gynnphpnupt T3 L phiup 177,083 96 17,0
33211380 Uquun bnynnphpnupt FT3 < phbup 0 288 0,0
33211380 Uqww tigynnehpnubl FT3 L phup 165 96 15,8
33211390 Anti TG-Cwlwdwpdhuubp phptingnpnypup Ujundudp Q< phiup 0 576 0,0
33211390 Anti TG-CwlwdwpuhUlbip phpbinggnpnyhth Uywndwdp < phup 165,625 192 31.8
33211390 Anti TPO-Cwljwidwpuhuutip phpbinwipopupnwah Lywndwip q< phup 0 960 0,0




33211390 Anti TPO-Cwlwdwpudhuubip phpinybpopuhnwah uljwindwdp Q< phup 162,5 384 62,4
33211280 Ppnigbiingh npn2dwu phiup hwywpwdnt < phiup 0 200 0,0
33211280 Ppnigbiingh npngdwl pliup hwywpwdont < Rhup 240 100 240

33211170 Uhqupefent UricAcid/Uhqupepyh npndwl pliup-hwywpwdnt < phuR 0 1500 0,0

33211170 Uhquippent UricAcid/Uhquppdh npngdwt phiup-hwiwpwdnt q< phup 26,2 1200 31,4
33211430 SGwddw gynunwdh| npuibiubtipwqu 9< phiup 58,5 1000 58,5

33691162 Lwpnpwnnp wqnwuynipbip/nbwgbunutip/ (dtiupe Ynwupnid ac plie 38 100 38
. pwpudwd wpniup npnpbijnt hwdwp
33691162 Lwpnpuinnp wqnuit / ubip/ LDH-L < phup 0 2000 0,0

33691162 Lwpnpwunnp wqnujnipb ub ./ LDH-L < phiup 24 1000 24,0

33691162 Lwpnpwunp mqulqmphp/nhwqhhmhhn/ $nudnp < phiup 35 1200 42,0

33691162 Lwpnpwwnnp wqnuwjniptip/nbiwgbiunutip/HIV- ahug < phiup 177.6 5000 888,0
33691162 Lwpnpwnnp wqnwjnipbip/ntiwgbunutip/ NMd < phup 45 8000 360,0

33691162 Lwpnpwunnp wqnwujnipbip/ntiwgbunutip/Uwqubghnuih ac - 30 1000 300
= npnodwil phiup

33211430 <hdu. $nudpwinwquih npnpdwl hwywpwdnt < phiup 34,8 200 7,0

33211500 Stiphwnhu < phup 318,75 576 183,6

33211500 <hjhynpwlynbip < phiup 0 576 0,0

L nwwnnp wqnubyniphip/nbwgbnubip/ Ynunpng
33691162 " ! it ac
N ininyRUtn Unpduy 5 ptup g ' pobs
wpnpwwnnp wqnwniebip/nbwgbunubp/ Ynuwnpng
1
ik |nidnypUtin ns Unpdwy 54 s PR iad : W
Upnitwpwiwlwu wuwihquwnnph nbwluwhyutip
1
33211500 Ludhs  wwinnn 20y < hwun 0 60 0,0
Upyniiwpwlwljwl wuwihquwnph nbwlnhubip-
33211500 Q< h 1 24 12,
eSS AR wn 38000 3312,0

33211500 Upniuwpwiwlwl wlwihquwnnph nbwumht{hbn HGB - ac fii 0 18 0.0
’ __pwipwinn nbwgbuwn-3,

33211500 Upjniuwpwtiwlwl wuwihquwnnph nbwhmhn{hhn HGB - ac hun 145200 4 580.8

pwjpwinn nbwgkuwn-3,8)

33211500 Upniuwpwlwlwl wuwihquwnph nhmumhqhbp WBC ac — 0 40 0.0

pwipwinn ntiwgbitun-3,8

33211500 e e 4 "h“‘L""h‘u‘h" Wee ac huwtn 90600 18 1630.8

pwipwinn ntwgbin-3,

33211500 Upynitwpwlwlwl wlwhquunph nbwhmht{hhn Eughdwinhy ac Fiiti 0 10 0.0
. ntiwgbuwn-1004)

33011500 Upjnibwpwbwlwt wbwihquinnph nbwlnhyutip-Eughdwnhly ac hun 296400 2 592.8

nbiwgbuwn-100d)

33211500 Upnitwpwuwlywu u:::rl‘hqwmnnh nbwlwnhyubip- ac istip 0 " 0.0

Uwihppwinnp pwpuiphy

33211501 Lpeiupdntnisutaiguenagh R ac phiup 403200 4 1612.8
. Ywihppunnp pwipinphe

33211500 Upjniiwpwbwlwl wbwihquwnnph nbwlwhyubip-ubuunp ac Bt 0 2 0.0

puipn

33211501 Upyniiwpwbwlwl wuwhqunnph nbwlwnhyutip-ubuunp ac obup 147000 7 1029.0

pwpn
33211470 Spnuwnuhu | < phiup 0 3000 0.0
33211470 Spnwnupt | q< phup 2100 1500 3150,0
i Mpnunwn uwigh$hly wunhqbiuh npnpdwu phiupe
q< b 0 200 0.0
Hanasn hwywpwdni-PSA AR
Mpnunwin uwbighbhly wuwnhgbiuih npnadwu phupe 1 100 180.0

33211330 husilubusni-PSA q< phiup 800 ,

33691162 Lwpnpwunnp wqnuwbyniphip/nbiwgbunutip/ 4hnwdht D L phiup 2400 200 480,0

33691162 Lwpnpwnnp wgnuwljnipbip/nbiwgtiunutip/ D-Dimer < phup 0 100 0.0
33691162 Lwpny n wgnwynipbip/nbwgbunutip/ D-Dimer Q<L phiup 199.8 50 10,0

Lwpnpwwnnp wqnwynipbip/nbwqgbunutip/ glhynihqugyuwd
Q< b 0 100 0,0
) 33691162 hbnainnhl piup

33691162 Lwpnpwwnnp wanuwyniplip/ntiwgbunutip/ gihynihqugywd ac pbup 1800 50 900
’ htingjnpht

33211250 8-ntiwlywnhy wpninbihtu K phiup 0 100 0,0

33211250 8-ntiwlwnhy wpnnbihu A< phiup 1800 50 90,0
33691162 Lwwnphnipbinhly uwpuiwlynig < phiup 0 50 0,0

33691162 Lwwnphnipbinhly uwpuiwlnig < pbup 2400 25 60,0

33691162 Ynpuhgng < pbup 0 50 0,0

33691162 Ynpwnhgn| < phiup 2400 25 60,0

33691162 Mpnlwighnnuhu < phiup 2400 150 360.0

33691162 Uhypnwipnudht dkigh dbg 9L phiup 1800 25 45,0

33691162 a-ptnnypnintihu QL phiup 1800 25 45,0




33211350

) @hptininpny_hnpdnu G< phiup 0 50 0,0
33211350 @hptinnnpnuy_hnpdnb L phup 1800 25 45,0
33211370 (Fhpopuhtu T4 punhwunip < phup 0 50 0,0
33211370 (dhpopuhl T4 punhwunip L phiup 1800 25 45,0
33211500 Mpnjwlwnpu 9L phiup 1800 25 45,0
33691162 Cobas e 411 Ejlljupu pwpdp qquijunipywl Spnuynupl T ac - 0 io 0.0

wlwlwlwy npnpdwl phiup hwywpwdnt
33691162 Cobas e 411 Eitljuhu pwpap qquyuntpjwl Spnuynupl T ac bt 118100 ) 36,2
— wlwlwlwl npnodwb phiup hwdwpwdnt
obas e 411 Ejkluhu pwpdp qqujunipjwl Spnwnuht T
33691162
GG < hwin 0 3 0.0
Cobas e 411 Eiluhu pwpdp qqujunipjwl Spawnupu T
33691162

) wiRAT i 9 hwwn 25800 1 25,8

33691162 Cobas e 411 Ejlijuhu wptiupynuwnpn Spnwnupu K hwwn 0 2 0,0

33691162 Cobas e 411 Ejtljupu wpbuhynuwnpng Spnwnupu < hwwn 21700 1 21,7
33691162 Cobas e 411 Ejlijuhu wquwun phpopuhth npn2dwl hwywpwént < hwwn 0 6 0,0
33691162 Cobas e 411 Eitiljuhu wquwn phpopuhth npn2dwl hwwpwdnt < hwwn 38400 1 38,4

33691162 Cobas e 411 Ejkiljupu wqwwn phpopuhup Ywihppwnnp < hwwn 0 2 0,0

33691162 Cobas e 411 Ejkiljupu wqwwn phpopupup Ywihppwnnp < hwwn 27700 1 27,7
33691162 Cobas e 411 Ejluhu phpbnupnuy hnpdnuh pwuwlwlwu ac hutn 0 E 0.0

npnpdwl phiun-hwywpdnt
33601162 Cobas e 411 Eytijupu phptininpnyy hnpdnuh pwuwwywu ac - 23600 ) 472

npnoduwit phiuwn-hwywpdnt
33691162 Cobas e 411 Ejtiljuhu phptinupnuy hnpdnuh Ywihppwwnnp < hwin 0 4 0.0
33691162 Cobas e 411 tytijupu phptinnpny hnpdnup Ywihppwunnp < hwun 21500 1 21,5
33691162 Cobas e 411 tybljuhu Cwlwphpnhr wnnpuhruigh < | huwn 39100 f 39,1

hwlwdwpdhuubiph phiun hwdwpwdnt
33691162 Covogs e 1 b Suilcpbon: SjpnpoRh a< huwtn 24200 1 242
hwywdwpdhuubinh Ywihppuwnn
Cobas € 411 tEﬁuﬁu mﬁpgnqlmpﬁﬁﬂﬁ El‘:wmdwdp

33691162 hwlwdwpdhuutiph pwbwlwlwl npndwl phuwn- Q< hwin 62300 1 62,3

. Y] hwiwpwdnt

33691162 obis:2: A1) By iprknigimiphiilp Wiuadudp a< huwtn 26900 1 26,9
hwywdwpdhuutiph Yuyhppwinnp
33691162 Cobas e 411 Ejlupu Mwpwwnhptinn, hnpdnuh puwlwlwlwu ac i 187800 2 375.6
npn2dwl phuwn- hwywpwdnt
33691162 Cobas e 411 iijupu Mwpwwhptinn hnpdnuh Ywphppwnnp Q< hwwn 0 2 0.0
33691162 Cobas e 411 Ejiupu Mwpwnhptinn, hnpunuh Ywphppwunp & hwwn 53800 1 53,8

: 33691162 Cobas e 411 kytijuhu wpbiuhynuwnpng Thyro Ab-h < hwwn 70400 1 70,4
33691162 Cobas e 411 Ejtljuhu wpbiuhynuwnpny wphw < hwwn 61000 1 61,0
33691162 Cobas e 411 btiljupu upuyny < hwin 0 5 0,0
33691162 Cobas e 411 bytijuhu uhugny a< hwn 22500 1 25

33691162 Cobas e 411 Ejbijupu Wynujtinnutiph pwiidwl wplyn < hwn 0 1 0,0

33691162 Cobas e 411_Ejtiljuhu uinmighsh wunpubiph hwywp < hwwn 0 1 0,0

33691162 Cobas e 411 Ejtiljuhu dwypwnhplbip < hwn 0 2 0,0
33691162 Cobas e411-h wwppbipwlwl wbfubhyulwl fubwdph ac b 0 1 0.0

= hpwlwlwgnu
33691420 Ubjuyuwly XP-300 < hwwn 0 180 0,0
33691420 Ubijuywy XP-301 L hwn 21000 50 1050.0
33691420 Uwnpndwunnjwiqtip-WH XP-300 Q< hwwn 0 50 0,0

33691420 Uunpndwwnnjwigtip-WH XP-300 <L hwun 120240 20 24048

33691420 Ubiyipihu XP-300 < hwn 0 13 0,0
33691420 Utiyipihu XP-300 9L hwtn 42600 7 2982
33691420 Fnunpe bwpwwnbudwd gtipdwiht nwhsh hwdwp XP-300 < hwwn 0 200 0,0
33691420 nune Uwf bugwd gbipdwyh nwhsh hwdwp XP-301 < hwwn 534 100 53.4
33691420 UhUh Ynybln XP-301 < hwn 90 2000 180,0
33691162 Cobas e 411 Ejiljuhu $n[u:‘[ta‘£aqu}]\ plltj;!:lxtjlmuu.nh npn2dwl phuwn- ac hidii 79700 1 79.7

33691162 Cobas e 411 Ejjuhu $nwpepyh Ywihppwinnp < hwun 26900 1 26,9
33691162 Cobas e 411 Eyupu Jhuinwdht B 12 puwliwlwlwl npnadwl ac Vi 38300 | 383

RGUN-hwjwpwdnt
33691162 Cobas e 411 Ejtilupu Jhunnwdhu B 12h wihppwinnp i hwn 26800 1 26,8
33691162 Cobas e 411 Mpliuhynuwnpny niuhybipuwy < hwwn 0 2 0,0

33691162 Cobas e 411 Mptiuhlynunpn niuhytipuwy K hwn 25800 1 25,8

33691162 Cobas e 411 Mptiuhynuwnpng dnyuinhdwplbip q< hwwn 0 2 0.0
33691162 Cobas e 411 Ejtiyupu ndhs tnywnh < hwwn 0 1 0,0




__hwdwowdnt

33691162 Cobas e 411 Ejtiljuhu (nidhs niuhybipuwy 9L hwwn 0 2 0,0
33691162 Cobas e 411 Litijupu Yuihppwwnnph wunputiph hwywpuwdnt Q< hwwn 0 1 0,0
33691162 Cobas e 411 bilijupu unnighs wunpubiph hwywpwont < hwwn 0 1 0,0
33691162 Cobas e 411 ISE upulyjhu G< hwwn 0 1 0,0
33691162 Cobas c111 PhuL.- funjiupbipn| npnadwl phiup hwywpwdnt < hwwn 0 2 0,0
33691162 Cobas c111 PhuL.- junjtiuptipn npnauw phup hwywpwdnt <L hwwn 41700 1 41,7
33691162 Cobas c111 Ywihppwwinp |huhnubiph hwdwp < hwn 17700 1 177
33691162 Yihuub < hwn 0 7 0.0
- 33691162 Mpnuby q< hwun 0 7 0,0
33691162 el 1 QC-dwluipnul 2 < hwtn 60000 1 60,0
33691162 Cwinqbit wdw 12V/20W bwfuwinbiuws cobas c111 uwpph ac it 0 2 0.0
huwdwi

33691162 Cwingbt (wdwy 12V/20W bwfuwinbugwd cobas c111 uwpph ac hustn 54000 i 540
hwdwp

33691162 Ulnhywinnp Uwfuwnbuywd _cobas c111 uwpph hwiwp q< hwun 36000 1 36.0

33691423 el 1 Cartridge 600 9L hwwn 0 14 0.0

33691423 el 1 Cartridge 600 < hwwn 240000 7 1680,0
33691423 el 1 Cartridge 300 < hwwn 0 6 0.0
33691162 Unupwgunn htinniy NaCl 9% < hwwn 14600 1 14,6
33691162 GQwihppwwnp Uynie Uwfuwwnbuwd phnphdhwljwl phuwntiph ac B 0 5 0.0

hwdwp
33691162 Qwipppwuinp Ynip bwiuwnbudwsd phnphdhwlwu phuntiph ac i 34700 1 347

: hwidwp_

33691162 Lywgnn htinniy cleaner cobas 111wuwihquinnph hwdwp < hwuwn 0 8 0,0
33691162 Lyuwgnn htinnil cleaner cobas 111wuwihquunnph hwdwp < hwwn 14100 3 423
33691162 Uwnnighs Ujnip wyptiuhynuwnpng dnywnp 1 < hwuwn 7560 1 7,6
33691162 Uwnnighs Ujnip wptiuhlynuwnpng dnyunh 2 < hwun 7560 1 7,6
33691162 Unpwu Udnh wunpubip bwjuwntuws cobas 111 uwnph ac i 0 ) 0.0

' Uuwwpunwn mdhhnm%hpwq npnadwl phun
33691162 Rt nshi < hwn 0 30 0,0
33691162 Uliiyudpurdacn “"’h“:ﬂ‘:":ﬁ’:“‘q L BT a< huwin 17900 4 76
33691162 Ujwiht wihununpwu$tipwq npnodwl phuwn hwywpuwdnt Q<L huwtn 0 30 0,0
33691162 Ujwuht wdhunnpwuubbipuq npngdwl phiun hwywpwbdnt q< hwwn 17400 4 69.6

33691162 Uhquityyniph npngdwl phiun hwywpwdnt < hwwn 0 30 0.0
33691162 Cunhwunip uwhwnwlnig npnpdwl phuwn hwywpwdnt < hwun 0 10 0,0
33691162 Cunhwunip uwhnwlnig npnpdwl phiun hwywpwdnt < hwin 21700 2 43,4
33691162 Whw wihpug npngdwl phiun hwywpwdnt < hwun 0 12 0,0

33691162 Upnidhu npnpdwl phiutn hwywpwdnt Q< hwwn 0 10 0.0

33691162 Upnudht npndwl phiun hwywpwdnt < hwwn 18400 2 36,8

hwpnuinbhupqugunn htnniy Uwhiwnbudwd  cobas c11l
33691162 Gl Riiidt Q< hwwn 0 6 0,0
33691162 Whmpnmbhhhqwghnr}‘:thnnl:]:;xuh::mhwu:é cobas cl11 ac b 6700 2 13.4
33691162 Mawlghnt yniftntbiph hwjwpwdnt Uwiuwnbujws cobas ac P 0 18 0.0
111 uwpph hwdwp
33691162 MFewlghnt nutnbbiph hwijwpwdnt wfuwinbudws cobas ac - 63800 6 382.8

. ciil uwinph hwdwn
33691162 Ypbiwwnhuht npnpdwl phiun hwywpwdnt Q<L hwwn 0 20 0,0

33691162 Ypbiwwnhuht npnpdw phiun hwywpwdnt Q< hwwn 15500 5 77,5

33691162 Qyniyngh npnpdwl phiun hwwpwdnt < hwwn 0 60 0,0
33691162 Synilngh npndwl phiun hwywpwdnt < hwun 16400 10 164,0
33691162 tunjiuntipht npn2dw phiun hwwpwdnt < hwwn 0 2 0.0
33691162 tunjbuntiphts npnwl phun hwywpuwsnt QL hwtn 16000 1 16,0

33691162 Sphayhgtiphnutiph npnpdwl phiun hwywpwdnt < hwuwn 0 2 0.0
33691162 Sphaihgtiphnutiph npn2dwl phuwn hwywpuwdnt AL hwwn 16000 1 16,0
33691162 Ninnwlh phihntphtp npngdwl phiun hwdwpwdn 9L hwn 0 20 0,0
33691162 NMipnwlh phihnniphup npnpdwil pliun hwywpwdn L hwn 10500 4 42,0
33691162 Cunhwunip phihnniphtp phiun hwywpwsnt QL hwun 0 20 0,0

33691162 Cunhwunip phipeniphth phun hudwpwdnt < hwun 22100 4 88,4

33691162 Lwlunwin nthhpngbiuwgh npnpdwt pliuwn- hwywpwsdn 9L hwn 0 8 0.0
33691162 Ypbwwnht Yhtwquyh npnadwl Ywihppwinnp < hwn 0 8 0,0
33691162 Shpphungbiuh npnuwl phiuwn hwywpwdnt QL hwwn 154080 8 12326
33691162 Uwnnighs (nidnyp start 4 coag hwdwp QL hwwn 0 1 0,0

Cobas e 411 Elecsys 2010 EjGfjufiu <nhnipjut htin
33691162 wunguigywd wwqdwih uyhunwynigh npndwl wkuwn 9< wnnuh 0 21 0,0




Cobas e 411 Elecsys 2010 E[Gufu <npintejwl hiwn

—hwdwpwdny

33691162 wungugywsd wjiwquwihl uwhnwlnigh npnadwt inkun q< wnnuh 229200 8 18336
4 Y hbi
33691162 Cobas e 411 Elecsys 2010 Ejtiyupu Eiluhu <nhnipjwl htin ac vl 26900 ) 53.8
wunquaywd wjwgdwihu uwhwnwynigh Ywihppwinnp
Cobas e 411 Elecsys 2010 free hCG+B pwwlwlwy npnpdwl
33691162 . & wnnith 0 21 0,0
411 El
33691162 Cobas e 411 Elecsys 2010 free hCG+B pwlwlwljwl npnpdwil ac — 164300 8 13144
phun-hwywpuwdnt
33691162 Cobas e 411 Elecsys 2010 free hCG+B Yuhppwinnp < wnuh 26900 2 53,8
Cobas e 411 Elecsys 2010 Eytljuhu wpbuhyntuwnpn) dwypwluwu
11
33691162 Vi 74 wnnuth 162300 3 486,9
33691162 Cobas e 411 Elecsys 2010 kytlupu Lnidhs niuhytipuwg Q<L wnnith 14600 1 14,6
33691162 Cobas e 411 Elecsys 2010  Ejtilupu Yuihppwinnph wunpubiph ac AL 26900 1 26.9
hwlwp
33691162 Cobas e 411 Elecsys 2010 hwt:zuuhu unnighsh wunpubiph ac il 18100 1 181
33691162 Cobas e 411 Elecsys 2010 kyliljuhu ISE uhuljht < unnuh 17500 1 17.5
33691162 Cobas e 411 Elecsys 2010 Unwuwuntip Uhupihu < hwn 0 1 0.0
33691162 Cobas e 411 Elecsys 2010 kjljupu uhuynp Q< hwin 0 4 0,0
33691162 Cobas e 411 Elecsys 2010 kjlljupu upuynp < hwn 4500 2 9.0
33691162 Cobas e 411 Elecsys 2010 Ejkljupu Mpnuby L wnnuh 0 10 0,0
33691162 Cobas e 411 Elecsys 2010 kjtljuhu Mpnub < wnnuh 21900 1 21,9
33691162 Cobas e 411 Elecsys 2010 kytiljupu 4jhtuby L nnuh 0 10 0,0
33691162 Cobas e 411 Elecsys 2010 kjliljupu Yihuub < wnnith 21900 1 219
33691162 Cobas e 411 Elecsys 2010 Ejiljupu dhypnlyniftinutip G< nnith 0 2 0,0
33691162 Cobas e 411 Elecsys 2010 kjtiljupu dhypnlynitinutip G< unuth 41300 1 41,3
33141100 Cobas e 411 Elecsys 2010 kjbljupu duypwnhputip < unnith 0 3 0,0
__33141100 Cobas e 411 Elecsys 2010 Ejtiluhu dwypwnhputip G wnnuh 41200 1 41,2
3314121 UhUpnlynutitntiph U dwypwnhpubiph puthnuubiph niwpwtbip Q< wnith 0 1 0.0
33141211 Cobas e 411 Elecsys 2010 4npwu Udnigh wunpubip Q<L wnuh 0 1 0,0
33191310 Upjwi binwndwl wlniwihl thnpdwtnp < hwn 93,6 2000 187.2
33141211 Uubinubip ulnunwyutiputiph hwdwp QG hwwn 25 2000 50,0
33141211 Unwwwnnp July jubipubiph hwidwp < hwwn 0 2000 0,0
33691870 Uhihywqbijh dwuuhyubipny Guyni jnidnyp 80% L Ul 0 200 0,0
33691871 Uhihywgbijh dwulhlubipny Yuyniu (ndnyp 80% <L 0\ 2000 100 200,0
33691870 Uhthywqbih dwulhbutipny Yuyniu jnidnyp 40% < g 0 200 0,0
33691871 Uhihwqbiih dwubplutipny Yuyniu imdnyp 40% < Ut 1458 100 145,8
33691166 Lyhuh juwnwpbjwgnpdlwl dhowwih 4L hwn 0 10 0,0
33691167 Lyhup ywinwpbjwgnpddwt dhowduwh K hwwn 5666,7 5 28,3
33211450 Ujpnuwihl < phiup 0 7000 0,0
33211450 Upnuipl <L phiup 10,92 3000 32,8
33211430 W pw wihjwqw < phiup 0 2000 0,0
33211430 Upw wihjwqu QL phup 168.9 1000 168.9
33211160 Ypbiwwnhuhu CREA-Col/ Yptiwnhuhtp npnpdwl phiup < pliup 0 25000 0.0
33211160 Ypbiwwnhuhu CREA-Col/ YptiwwnhUuhuh npnpdwl phup < phiup 8,82 10000 88.2
Lhwwwnhwn C Jhpnwh wunhgbuh npwljwljwt
Q< 100 8000 800,0
8821320 hwjnuwptipdw phup pliug
33211320 Lhwwwnhwn B Yhpniuh wunhgbuh - hwynbuwpbpdw ptup < phiup 0 1728 0,0
33211320 Chwwunhwn B yhpniuh wuwnhgbiuh - hwjnbwpbpdw ptiup LIS phup 1o 864 95,0
- hunjtiuntipn) CHOLESTEROL /Cunhwunip funjtiuntiphuh phup
g Q< b 0 4000 0.0
33211130 huidlipiasat phup
3 tun(tuntipng CHOLESTEROL /Cunhwunip funjiuntiphtp phup
b 18 2000 36,0
» 33211130 hudwowsnt q< phiup
33211290 Ywihnuwih npnpdwl phiup-hwywpwdnt < phup 0 18000 0,0
33211290 Ywihnuwih npnpdw phiup-hwywpwdnt < phiup 153 4000 612,0
33211300 Ywighnwh npndwl phiup-hwywpwdnt < phup 0 3000 0,0
33211300 Ywighnuwih npnpdwl phiup-hwywpwdnt < phiup 19,8 1000 19,8
Qwlwuwnptiyunn|nhght-0 Anti Streptolysina
33211260 O/<wlywuwnptiyyinnihghu-0 npndwl phup-hwwpwsdny ASO/ < phup 26,88 1500 40,3
latex
33211470 Spnwynup/whuwn.uymptip/ < phiup 0 1000 0,0
33211470 Spnwnupb/whuwn.ujniptip/ < phup 321,6 300 96,5
MHudwwnnhn Swluinp Cwinbipu Rematuoid factor
33211240 lex/Mtudwinnhnwiht Swinnpubiph npnpdwu phup- < phtup 24,48 2000 49,0




33211250

8-nbwlunhy wpninbiht-jwinbipu C-Reactive Protein-lex/C

ntiwlwnhy uvwhnwlnigh npnodwl phiue-hwdwpwdnt e phup HH 12000 3638
33211190 Snjhlynb wuwnh-A /wpjwl fudph Il npnpdwl phiup < phiup 2,31 12000 27.7
33211200 Sn(hlynt wuwnh-B /wpywi fudph Il npngdwl phup < phiup 2,31 12000 27,7
8nihlynt wuwnh-Unwybip/ rh D ntignu hwdwlwpgh
1
33211220 . wibialiabih - niih pbi q< phiup 4,44 12000 53.3
nhqitighphn TRIGLECERIDES/bnq[llghnhqh npnpdwl phup-
33211180 9.
it hulwowdnt < phiup 0 2000 0,0
nhaitighp nTRIGLECERIDES/bnqmgbnhqh npndwl phiup
33211180
7 Kl < phiup 39 1000 39,0
33691162 Lwpnpwinnp wqnuwynipbip/nbwgbnutip/ LDH-L <L phiup 38,4 2000 76,8
33691162 Lwpnpwinnp wqnuwuyniptip/nbwgbunutip/HIV- ahu< < phup 0 5000 0,0
33211430 <hdu. pnupwinwquih npnpdwt hwywpwdnt L phup 0 200 0,0
33211130 hunjtiuntipn /HDL- funjtuwntiphtu < phup 0 400 0,0
33211130 tunjtuntipn) /HDL- funjiuntiph < phiup 240 200 48,0
33691873 Eunn wqwp QL g 0 2 0
33691873 Ugquwp Uwpnipn q< g 0 2 0
33691163 Uqup Ujnyjtip <hupnuh q< g 0 1 0
33691163 Tnlynjwnuyht wquwp < hwwn 0 60 0
33691163 Swquiht fuwnunipn wuwkpnp 9L hwwn 0 30 0
33691163 Uwlhwn wnuwjht wqup < g 0 3 0
33691160 Syniynqus < g 0 1 0
3369116 <Lbhynpwlnbip phup < hwwn 0 50 0
33691874 Ugbnwuwn wqwp L lg 0 1 0
33691872 Uuw whupnnbwihl Ywd snp ubnignn wqup < g 0 1 0
33691163 Euwnbipnyny wqwp K g 0 1 0
33691163 Yinuinphnhnud wqwp < 4g 0 1 0
33691163 Unphihph pbup wqup < g 0 1 0
33691163 XLD wquip q< [ 0 1 0
33691162 Ownnfuht nhuly L hwn 0 100 0
33691162 Pwghunpwght nhuly < hwn 0 100 0
33121270 Lwlwphnnhhuwqguyunipjwl uhwl{wnmubbn/ ac huwn 0 100 0
B Udopuyl U+ ljwyniwg
Cwlwphnunhlwaqquuniejwl uhml{mnmuhbn/
33121270 < h 0 300 0
Udwhghihl o
33121270 Cwlwphnunhywaquiunipjwu ujwywnwlutip/Muhghihu G Q< hwun 0 200 0
. Zwlwphninhuggut U ulwwnwlutp/
1T L) 1 J 1°d q h 0 200 0
) 33121270 Shinnhisotat - < wn
Lwlwphninhjuqqujunipjwt ulwdwnwlutip/
QL h 0 200 0
33121270 P win
<wl4wphnmhl4wqu]bmpjmb ulwywnwlutip/
q< hi 0 200 0
) 33121270 Shbuw wun
33121270 <wuwphnmhquqwjhmpjmh ulwlwnwhubip/ ac hun 0 200 0
. Ubipnwbubid
33691160 hdhybubid QL hwn 0 200 0
Cwlwphnunhljwqquyunipiui uuwnuwlutip/ a
< h 0 200 0
33121270 Usbul%isouiiaht wun
Lwphnnhlwqquyunipjwl ulwywnwlubp/
v o ¥ Q< hi 0 200 0
- 33121270 UnpSinpuwahl wwn
5 Lwlwphninhlwqquyunipjwl ulwwnwlubp/
Q< h 0 200 0
, 33121270 Shujpnbinputighl wun
33121270 Lwlwphnunhywqquiunipjw uywywnwlutp/Lun$inpuwght q< hwwn 0 200 0
33121270 Lwlhr}hpuwp[am < hwtn 0 200 0
33121270 Culjuuphrinhljwaquybiniejuls uljuwjunuluby a< | hun 0 200 0
. Lhmnnizmnwhumh
Cwlquhnmhlqwqu;bmpjwh ulwywnwlubip/
h 200 0
) 33121270 Enhiniin q< win 0
33121270 <'“l"“ph""'h““’qq“‘j"‘:“d’°"“" Lo wniykbny ac hun 0 300 0
: “hunwihahli __
E—— Culwphninhhuqquiunipjwl uGuiduwnwlutp/ ac N = 550 0
Sngnwdhgh wn
Zwlwphnnhluac tulwwnwlutp nhulbn/
Fl L b s 4 frec | L) 1 " 1 q< h 0 200 O
33121270 Wi h win
Lwlwphnunhlwqquiunpiwl ulwjwnwlutp/
< h 0 200 0
33121270 Shiai u win
33121270 <”‘l‘“‘p""'"""“‘g‘;:‘::j‘l;”“"‘u“l‘“’q“‘"‘“m’b“/ ac huwun 0 200 0
33121270 Cwlwphnhlwaqquiunipjwt uljwwnwlubp / ac Hiit 0 200 0

Snupndhghu




ZwhwphninhGuagwt U ufuwnwlutn/
Ywppninplwqquiuniy Jwywnuuy

33121270
) Nopu N < hwn 0 200 0
2T P e !lelllh_‘ AT
33121270 {wppnnpluqquyunipjwtiuljwy Jutir q¢
i tinhifieawan: hwn 0 300 0
Lwhwphnunhlwqquitinuejwbulwwnwlutip/
33691162
Quilndhahl q< hwtn 0 200 0
33691162 Cwlwphnunhlwqquunipjwlulw]wnwlutip/ ac hutn 0 100 0
Lhunwwphunht
33691162 Cwlwphnuinhjwqqujunipjwlulw]wnwlutp/ qc¢ i 0 200 0
. Linpwdbbiuhyn)
33691166 Uhguwiuwn tinzwpuipuyhl ac U 0 1 0
33691888 Hinblhe prigns 9¢ g 0 ! 0
33691166 Ahnt oh6iniy Q< hwin 1
33691166 2np 2hqbinquh wrunppgywsd whunnpnzhy zhﬁmy ac Huatn 1 0
wajinunhtuwaghwih nbwyghwih hwdwp 1-VI, sonnei
33691166 2nn 2hqhinquh wrunnppgywsd whunnpnzhs ohéndy ac — 0 1 0
wayinunhuwaghwih ntwlghwih hwdwp $itiputitinh 1-V
2nn 2hqbiinquiht wnunppgywd whutnnpnzhs shéndy
1
deecaing wgynunhuwghwih ntiwlghwih hwdwp $iiputtiph I-ht npuy fg hun 0 ! o
33691166 2nn 2hqtinquihu wnunppgywsd whunnpnghy 2héniy ac hun 0 : 0
wagynunhtwahwih nbwlghwih hwdwp $itiputiph 1l n
33691166 2np 2hqlinquuht wrunppgywd whunnpnghy shéndy ac i 0 1 0
waqynunhuwghwih nbwlghwih hwdwp $ibputitiph 111 n
2np 2hqbiinquuh wnunppgywd whinnpnghy shény
1 0
336966 | waynunhtaghuih abvwlbabush huiun Siboutinh g4 | S| e : 0
2nn 2hqlinquyht wrunppgyuwd whunnpnghs 2héni
11 1
33631166 waynunhtwghwih nbwhghwih hwdwp $ibiputitiph fudp.6 s g 0 g
2np 2hqbiinquuh wrunppgyuwd whutnnpnahy 2héndy
o nunhbwahwih nbwlghwih huwdwn $ibputinh wap7,8 |+ | M e : -
2np uwidnubiinquiht wnunppgywd whunnpnghy ohGniy
1
N 43601164 wgynunhuwaghwih nbwyghwih hwdwp ABCDE = hun o o
33691166 2nn uwidnubiinquiht wnunppgqwd wiutnnpnghs 2h6ndy ac i 0 i 0

: wqynunhuwaghwih nbwbighwih hwdwp 04
33691166 2np uwdnubiinquiht wrunppgyws whunnpnhs 2h6niy ac i 0 1 0

. waqynunhuwghwih nbwyghwih hwdiwp 09
33691166 2np uwdnubiinquiht wunppgyws whuinnpnhs ohénly ac Ui 0 1 0

. wqynunhbwghwih nbwbghwih hwdwp 012
33691166 2nn uwdnubiinquijht wnunppgywd wluumpnzh;‘ 2héniy ac i 0 1 0

. wqynunhuwghwih nbiwhghwih hwdwp Hi
33691166 2np uwdnubiinquiht wunppgywd wiunnpnghs 2h6niy ac hun 0 1 0

. waynunhuwghwih niwbghwih hwdwp H gm

33691166 Egtiphfuhng wiuwnnpnghs ohénly 026 < hwn 0 1 0
33691166 Batiphfupng_wfuwnnpnghs ohtinly 055 9< hwwn 0 1 0
33691166 Etiphfupng whutinpnohs ohindy 0111 ac hwin 0 1 0
33691166 Eptippjupng whuinnpnghs oh6niy 0157 < hwun 0 1 0
33691162 Lhijhynpwlwnbiphw whinpph phiun < nnuh 0 2 0

33691162 Euwnbipndhpniuh pliun 9< wnnuh 0 2 0

33691162 Ppnighiingh nhwqunuwhlynud < hwwn 0 2 0

33691162 Unununilytingh phuwn g hwin 0 2 0
33691162 Egtinhfuhngh phiuwn ( E. coli 0157:H7 ac f— 0 2 0

hwiinuwptiptini hwdwnp)

33691162 Lwuwnphnuih pinphny < g 0 1 0
33691162 Uwywnwlubip opuhnwquiny < hwwn 0 200 0
33691162 Bwquwph snp wwqliw Q< wnith 0 1 0

33691162 Dhpubbnwnhy whunnt < g 0 1 0
24211140 0G-6 poowyht Ukiply Yniwynghuininghwih hwdwp 5004 <L |hwnp 0 2 0
24211140 Lhidwwnpuihu Cwphu-peowihu Utiny 5004d; < {hwp 0 2 0
24211140 Minthppnd EA-50 pogwihl Ubiply Ynpuwnghunninghwih hwidwp ac i 0 2 0

5004
8-ntiwlywnp hunwlnig npnpdwl phiup hwwpwdnt ueip
33211250 nbwlunhy uuhuwlig npnadul pup P a< 0 5 0
cobas cl11
wnnu
33211250 CFAS wpnubipu cobas c111 < 0 2 0

' funnnqwljubip bwhiwnbujwsd nbwgbunutiph dtig 0 10 0

Wi uibnuwnntin hwdwn cobas cl11 huduwn 3¢ | b
33691420 Uhuh Ynyblyn XP-300 L hwwn 5000 0




33691160

Suhsh pninpe Uwhiwnbuwd

Q<L wnuh 0 100 0
cobas c111 uwpph hwdwp

33191310 Upjwt udnigwndwl Julnwwhl thnpdwlnp < hwin 0 5000 0.0

33211280 Ppnigliingh npngiwl phiup puwn Mwyp ubinkiiunuh 24 uu hwin 2800 2 56
24321860 Ugnunwljwl ppnt uu {hwnp 2500 2 5,0

24321240 U-puhyni-Yuyswiuynip uu {hip 38000 2 76,0

Upuinwhwthg htinniy yniatip /nhnbghinhdbphiwdnubnuh
24451141 pinphn(UU)- 3,5%, N.N-phu-(3-wdhunwpnuhpnnnbtghjwdhu uu thwn 10000 12 120,0
5 5% (Suunnunin) -
24451141 Upuinwhwuhg htinnily Ujnipbip/Snunwpwintihhn 20% Uu g 19800 n 2376
) Hmwu Lt — e
dtiphi-wnih (opuhkphy ) winuhnwh wpnujhnbwn-
4451141 | WnihhbpuwdtiphiEuphgnuwbhnhl hhnpnpiaphn, tinkughdught |-, - 14000 8 12,0
Yndy(bipu (Gwbwuwquw,wibw-
wdhjwqu,wpnintiwqu),dwltiplinypuyhl wlnhy bnyetip
Wihnabil
LT R T S T e T
24451141 pinphn- 2,2%, NN-phu-(3-wdhunwpnuwhynnntighjwdhu -5% uu thvp 8000 8 64,0
(Uninbwhnu):

24311530 pwoduh whipopupn uu {hinp 1000 60 60,0

33691162 Uwnpndwwnniwygtip-WH XP-300 uu hwuwn 40080 2 80,2

33651143 Unwppent uu |hwp 2500 1 25
24951400 hutipuhn jnin 1004 uu hwn 4500 9 25
33121270 Lwlwphnunhlwjht ujwywnwlubtip uu hwwn 25 2250 56,3
33211500 Zhihynpulutip Uu hwn 1000 25 25,0
24321250 Luhing uu thwnp 2500 40 100,0
24211150 Snituwlyniplip hhuwnninghwlwl uu hwn 9000 4 36,0

24211140 Lhdwwnnpuhihu Jill 111 uu {huinp 28000 2 56.0

24321311 hanwpnwhy uwghpun uu {hwp 2500 20 50,0
33691163 Eunnwqup Uu g 60000 05 30.0
33691874 Ugqup dwupwn-wnwyhu uu lg 47000 0.5 23,5
33691879 Ugquip Ujnyitip <hupnuh uu lig 66000 0,25 16,5

Cunwdbup 39195,5

9PELULUL MhSARSLLLN U 4PUULL3ULUSPL L3Nh@EP, UUreudnrnhuLer

30197620 (dnunp, A4 $npdwnh 1/21x29,7/ Q< hwwn 1600 550 880,0
35821400 Tpnglbip uu hwin 6000 6 36,0
30192739 @ninp, A4 ppdwinh gniiwynp uu hwin 1500 10 15,0

30192780 Epuwilipwu uu hwwn 300 100 30,0

22811190 Uwuhwnwpwlwl gppnyp uu hwwn 100 400 40,0

22851200 Inpwwwuwlutp, npubin prptipp dhwgynu bu onwlutipny Ul it 1000 25 25.0

U pnph wdpwyubip/Jtd/

39263200 Spwubityjwlup ghpp uu hwn 1200 20 24,0
22851200 Fnpwwwuwly uu hwn 750 30 25
22851200 Fnpwwwlwly uu hwwn 400 50 20,0
22851200 [Fnpwwwlwl uu hwwn 200 50 10,0

22851100 Upwquywpubip uu hwun 180 160 28,8
22851200 Fnpwwwuwl,wnihibpwhl punwup, $uy uu hwwn 13 12000 156,0

30197220 Guiphsutin, Upusl 20 phipph hwdwp uu hwn 650 10 6,5

30197220 Yuwphgutip, dhugh 20 plipphg wyb uu hwin 1600 5 8,0
30192111 (Fwwp, gnwdwh,pwpdhyh uu hwwn 400 50 20,0

30192121 unhlwnp gphs uu huwwn 100 1200 120,0
30192125 Uwplbipubip uu hwn 200 50 10,0

30192125 Uwwnhwnubip Uu hwwn 100 400 40,0

30192133 Uphsutip Uu hwn 300 30 9.0

30192160 CTuphfulitip Uu hwn 250 150 37,5
30141260 Lwguhs-npwiwplynwh dkiptuwubiph dwwwybuubip uu hwwn 150 1000 150,0
30192100 Mtwnhu hwuwpwly uu hwwn 100 20 2,0

30199710 Opuwpubip uu huwn 15 4000 60.0
30197100 “wphsh bwnwnuwiwpb uwktip,thnpp uu hwwn 100 200 20,0

30197112 Ywphsh dbnwnuiwpb Yuwtip dhohu uu hwtn 200 200 40,0

30194810 Luwlnuubip uu hwin 200 20 4,0

30192210 Mnhdtipwiht huptwlusnit dwuyutu, 480dx100d Ul i 100 2 2.0
: wtnbuwlwb, it

30192710 Unutidwdwinhwn, gpwubilyjwlwih Uu hwwn 400 400 160.0

39141100 Uduwgpbiph nwpwlubip Uu hwin 4500 5 22,5

30141200 Lwpwuwpp.gpuubtywlwiht uu hwn 4500 5 22,5

30199400 Unuldwujwinwd Guwd Yugniu pninp uu hwun 200 30 6,0




30199400 Unubdwwwindwd Yud fuyni gninp uu hwtn 250 30 7.5
30199430 (3ninp Upnuwutiph, npguliutipny uu hwn 1500 50 75,0
22811130 Opwuwuntinp uu hwin 3000 10 30,0
39263600 Spswinnuh,gpwublywluwh uu hwun 600 6 3,6
30192111 (Gwlwph pwpdhlubip uu hwwn 350 10 3,5
39221490 Uwyniugqubip uu hwwn 300 10 3,0
39111140 Upnn uu hwwn 12000 10 120,0
39111180 Upnn gpuwubwluht uu hwwn 80000 2 160.0
39111180 Upnn gpwubijwluwhu uu hwwn 30000 16 480,0
Cunwdtug 2929.9
i SULSGEUUNUL L UULLhGhELRY L3NR@EN, UMPULLLEN L UUreudnrahULer
24451141 Ufunwhwunn_dheng 1| G< hwun 700 200 140,0
39831280 Uwwlp dwppbiint htinndy < hwun 400 300 120,0
39221410 Uyt S hwwn 1050 20 21,0
39221400 Uyb| - uwyny < hwwn 3000 90 270,0
39221350 Pwdwlw dhwuquijw ogunwgnpddwl < hwun 5 8500 42,5
39224331 Ty 10 | < hwwn 700 10 7,0
39224331 "ty 5 < hwun 500 10 5,0
39224333 “tny| dnwnw / ghulwwwn 10 | < hwun 1500 12 18,0
39713410 “Fny 2dwippuyny < hwwn 4000 10 40,0
33761100 2niquipuwh pninp < hwin 100 660 66,0
33761100 2niquipwuh pninpe 2 gkipn < hwun 150 3600 540,0
39221420 2mgwpwuh fjunquuiwl QL hwun 800 120 96,0
33761400 3npb wiudtinnghly tiplpbpu / z- wali 21 uy/ 9< hwn 800 450 360,0
39513200 3npl uwwl hhywunh hitnwgnndwl <L hwwn 3500 60 210,0
33761300 (3npb upphs funhwtngh 2 ptipun q< hwn 350 500 175.0
39831283 huplwdwpphs nnyih onp K hwn 500 50 25,0
39831243 Ldwgph thnoh q< [ 800 750 600,0
39812410 Ywhnyph jwp QL hwun 700 12 8.4
39221400 Ynnun 1 < hwn 600 40 24,0
39713410 Swunwly dwppnn hupuwdwpphs nny| /pwdynn/ 9L hwwn 8000 35 280,0
39831283 Cwunwlh (wp pwidpwly < hwin 1300 120 156,0
39835000 < b thwyn < hwtn 1200 40 48,0
39831246 Lbinnily o6wn K (hwp 500 1000 500,0
39831246 <binniy o6wn 0,33 < hwwn 500 10 50
__18141100 Qtinung ntitnhut 9L hwn 250 1100 275,0
39831241 Qtinph o6wn L hwn 220 350 77,0
39221400 Uhlypndhppw Q< hwun 400 10 4,0
39531800 Lwhiwdnunph gnpg L hwn 2500 10 25,0
34921440 Mwundwub inwppw Yuthwphsny / Yinp funpp 80 q< hwun 7000 4 28,0
34921440 Mwuwndwub nwppw Yuihwphgny /pwnwulynd 10 K hwwn 2300 15 34,5
34921440 Mwundwubi nwppw Yuihwphsny /pwnwlyniu 2¢ <L hwwn 700 5 35
34921440 Mwuwndwubi nwppw Ywthwphsny /p lyniu 40 < hwun 4500 5 22,5
39221400 Mwundwub nwppw Yuthwphsny 60; < hwwn 7000 14 98,0
19641000 TnhkphibUwihl wuwpl pwinuh 60] 9< huwn 200 1000 200,0
19641000 Mnihkphbuwihu wwply pwihnuh 120; q< hwin 300 50 15,0
19641000 Mnihkphibuwht wwply/ wnph wuwpy 30 | G< hwun 300 1150 345,0
39831246 Uwbhwugnyg dwppbijnt nwfuyw < hwwn 330 820 270,6
33721100 Uwthpbijnt wétih q< hwn 150 2000 300,0
39221400 Ubnup jwp a< hwn 150 100 15,0
39831278 Uwwuph (wguwl htinniy a< Jhup 350 2250 7875
39221490 Uwniug wynwhub dhnd/ dbivnwnwlwl uwniug < hwwn 150 330 49,5
39831240 Pinn /dwby q< fhup 130 6500 845,0
39831240 2o 1, /dulty < huwun 250 200 50,0
39811300 Onh pwpdbkignighy Qg huwn 450 220 99,0
24961200 2inp 1y uu hwn 150 660 99,0
39831210 Uwjwup (4. hbinnily 1y uu hwtn 300 333 99,9
39831240 Uwuhwugnyg dwpybiint dhe nwfupu uu hwn 300 330 99,0
33761100 2niqwpwuh pninpe 2 gkipn uu hwwn 150 665 99,8
33721100 Uwihpbnt wdtijh BIC uu hwin 130 765 99,5
39513200 3npb vwjwl hhywunh hitnwgnindwl uu hwwn 3500 28 98,0
44611130 FpYwduh funbwwgnighs Uu hwn 6000 100 600,0
44423680 FpYwduwiht hwiwhwpgh dwu (dwhuuwswih) uu hwun 28000 25 700.0
18531100 Lytipubkip uu hwin 3000 333 999.0
39831243 Lywgph thnoh uu lig 800 100 80,0
31161240 Ynunwlyhsubp uu hwwn 145000 3 435,0




38311100 Ejtilyunpnuwgh Yotinp uu hwwn 1960 1 2,0
39515440 Shipnwywpwgnyp ninnwhwjwg uu N 6500 76,45 496,9
39515420 Chpunwywpwgnyp ninnuhwjwg uu s 15000 8 120,0
42911180 (FpUwduh Gupwlwywuh qunhs thwljwny uu hwwn 290000 1 290,0
Cunpuidbp 11619,0
<UUULUrShLER, UV ULUMGUSPL UUPLULNPNRULEE L MUrUSULER
30211230 Cwiwlwpghs (pwljwqd wnwug dnupunnp G< hwwn 0 15 0,0
30211230 Cwiwlwpghs |pwlwqu wnwug dnupunnp < hwuwn 119840 9 1078.6
30237490 Lwdwlwngsh dnupnnp < hwun 38940 20 778.8
30239170 Pwquwniulyghnuw) (wgbipwiht wnuwhs / gutgwh K hwun 230000 6 1380.0
30239170 Pwquwhniuyghntwy (walipwhl wiwhs / ns guligujhl < hwwn 110000 3 330,0
30232231 Cwiwlwnggh Yo ulwiwnwl /4TB < hwin 40800 2 816
32421100 Swugwjht Jwinifu cat 6e < dbiinp 0 2135 0,0
32421100 Suwiliguh dwniju cat e ac dhunp 128 1220 156,2
31321110 Stuwjughlyh dwinifu < b 0 1000 0,0
31321110 Stuwlughlyh dwnifu < b 152 500 76,0
~_31321mo Ujhwywph dwiniju < dtiinp 0 300 0.0
44322300 Lbnwfunuh dwynifu Q< dbinp 55 500 27.5
32551150 Luwthnnh jwp L hwn 300 20 6.0
30237132 Sujhsh jwp (USB) 9L hwn 1500 15 225
32421300 WiFi uwpp < hwtn 6000 10 60,0
30141380 RFID shy K< hwwn 300 200 60,0
30141380 RFID shuy dwjuwgnynn < hwin 400 200 80,0
30216200 RFID shuh dwjuwgpnn uwpp Q<L hwwn 14000 1 14,0
30141380 Ricoh325sfnw pwppphgh shuy < hwin 0 10 0,0
44322200 Cwiwywpqswiht uungdwl uwppht dhwgynn dwintfu (220V) 9 hwwn 348 100 348
30237112 Lwiwlwngsh hnuwuph uunigiwl uwpp < hwwn 4380 20 87,6
32421300 Swlgwhu puwdwlwpwp < hwtn 3900 20 78,0
30197231 “Hhulyp Sy 9L hwun 9.6 5000 48,0
30237460 Utnbinuwywip < hwun 3000 20 60,0
30237460 Uwnbinuwpwp wujwp 4L hwn 8760 3 26,3
30237411 Lwiwlwpgswihu dyupy < hwwn 1560 20 31,2
30237412 Cwdwlwpgswht dyuhy wjwp < hwun 3600 3 10,8
30232231 Ynpun ulwywnwy SSO < hwtn 8199 10 82,0
31681150 <hpnnnipjwl dhypnufubidw 24C32 Q< hwun 1000 10 10,0
30237113 Rj45 Ynublyinnp < hwwn 21 1000 21,0
302371 Utnigdwl Jwpunyng Q< hwwn 12800 3 38,4
31151120 Ubfuwthwl utnigdwl uwpp < hwn 48800 3 146,4
30232231 Upwnwpht Ynoun ujwywnwy <L hwwn 51000 2 102,0
32324900 <Lbinnwunwgnyg < hwin 51000 20 1020,0
31221270 Uybhwywph pwdwlwpwl <L hwwn 2200 5 11,0
31221270 Ujhwywph dhwgnuiutip < hwwn 200 30 6.0
31221270 Uthwywph dhwgnuwiutip < hwwn 200 30 6,0
44322100 Uwintfu hwdwlungsh, UTP cabel Uu dhnp 190 305 58,0
Cunwibkup 6028,5
Chuwpwpnipjwl by ogunugnpéynn quitiwquils wypuitipn U bynipbr
44111412 Utpngny ubiply < hwun 800 50 40,0
19121700 Uphbunwlwl fuph 9L qd.d 6000 30 180,0
~ 39837000 Uyt wngny / pwlyp < hwun 2500 10 25,0
44511110 Pwh funpp 9 | hunn 1500 3 45
42415220 Phnbwuw)jwly < hwtn 18000 3 54,0
42415220 Phintwuwjwlh wuhy < hwun 3600 3 10,8
39241130 Fwbwlubp poeh < huwtn 1500 10 15,0
39241130 FwLwlubp pneh /iiquh/ 9| hun 40 300 12,0
42121270 Yhuinwhnph wndw Ynyninny/raybunksii F50 q< hwwn 75000 2 150,0
4404 “Hnwl pnlwly Q< hwuwn 1200 30 36,0
44423100 "nwl qug kEiupwlut < hwwn 2000 2 4,0
44521120 “nwb thwlwu bypnpnwl A< hwwn 3000 50 150,0
44521121 nuwl (hwlwh dhentl 8 ud 4< | humn 2500 70 175,0
31711160 Ejliywpnn._utindh 9< wnnu 300 30 9.0
31711160 Eitiyuipnn 2,500 9L hwwn 40 150 6,0
31681900 Eiyunpwlwl wynuhy (nnby) < hwwn 40000 1 40,0
44423680 FpYwduh ywpgquynphy L hwn 8000 10 80,0
30192232 Puplwlupgntt dwuywdbl_(ohu.) 4< | hun 600 20 12,0
44820000 Lwp LUunwpwuubiph LS g 5490 5 27,5




44423680 Lbuwn phUwpuwpulyul < hwwn 1500 5 7,5
39299320 Lnqupwlh hwybijh wnwlg opgwliwlh < hwin 5000 5 25.0
44831500 Lnidhs 5 K hwn 5000 4 20.0
44411300 Lwgupuwl < hwin 25000 5 125,0
44423680 Onuh bipn qowl < | huwn 700 100 70,0
42131470 Onpwlh dbwn. dwubip K hwin 1490 8 1.9
39132220 Ywlupy < hwwn 200 60 12,0
39151220 Ywhnyph dwutip /wuhy Yuwhnyph/ < | hwn 200 100 20,0
39151220 Ywhnyph dwubip /wulyniuwl Gplwejw thinpp < hwwn 40 100 4,0
39151220 Ywhnyph dwubip /pruwly/ K hwn 300 30 9.0
39151220 Ywhnyph dwubip /nupwlwwwhhs/ < hwwn 1500 30 45,0
39151220 Uwhnyph dwutip /3nup/ 9 | hwn 300 100 30,0
39151220 Ywhnyph dwubip /nunp/ q< hwn 1100 50 55,0
39151220 Ywhnyph dwubip /ulwb/ < | hwan 500 70 35,0
44521100 Unnuybip q< hwun 2000 3 6,0
44531193 Ynjninnt wulyniuwy < hwwn 700 20 14,0
44163200 Ynyninnt wignud < hwwn 700 6 42
44163200 Ynyninnt nwpuwipfuhy < hwwn 1000 9 9.0
44163130 Ynyninnt funnnyuly F110 0,25 d 2,2dd < qdd 450 5 23
44163130 Ynjnunnt funnndwl F110 0,254 1,504 < qdd 300 3 0.9
44163130 Ynjnunne funnnywy F110 0,5 4 2,504 < qdd 900 5 4,5
44163130 Ynyninnt funnnyuwly F110 1 d 2,504 < qod 1500 5 7,5
44163130 Ynyninnt funnnyuwly F110 2 d 3,244 9L qdu 2700 5 13,5
44163130 Ynyninne funnnquwly F110 3 d 3,204 < qdd 4000 2 8,0
44163130 Ynyninnt funnnduwly FS0 0,3d 1,504 QL qdd 280 3 0,8
44163130 Ynyninni funnnyuwly F50 0,54 1,544 q< qod 350 3 1,1
44163130 Ynjnunnt funnnywly F50 1d 1,504 9< qdu 550 3 1.7
44163130 Ynjnunne funnnywly F50/2 1d < qdu 850 8 6.8
44163200 Ynjninnt fuguiu 9L hwwn 400 4 1,6
44163200 Ynjninne dnidun < hwun 320 6 1,9
44163200 Ynyninnt nipghw F100 Q<L hwun 2500 5 12,5
44163200 Ynjninni innnu 5 dbnpwung < hwwn 2000 2 4,0
44112730 Yunpnn ulwywnwy < huwn 700 50 35,0
44511700 Lwppwpnipp < hwwn 2000 4 8,0
724911300 Zinniy Utfu < | hun 800 20 16,0
44831300 Lbipdtnply wywnlywyh sbpdwluyniu < hwun 1000 10 10,0
18141100 Abinung pwlynpwljwu K qnyq 300 100 30,0
39839300 Qi phuwly K hwwn 5000 6 30,0
39541170 Bnuywu < dkinp 300 70 21,0
24911500 U+ unuhua 100q L hwun 2000 30 60.0
44191700 Utiinp 5 d < hwuwn 2000 3 6.0
9211620 3nin 2 nwlnwuh 1 < hwun 2500 3 7,5
44423680 Lwuwinlw Shgnintp < huwn 300 10 3,0
44111413 ULtiply wgtinnuwhu hhdpny kuyhd Ywd hwdwpdtip < g 4000 25 100,0
44411740 Lunwlynup QL hwun 35000 5 175,0
j 44411740 Luwnwlnuph wy. Jwihwphy < hwwn 4000 50 200.0
44411751 Luwnwlnuph oph tnwpuyh Yndyyblin/pugnlyph < hwuwn 5500 60 330,0
44521100 Tybgwp nnwu < hwun 10000 10 100,0
42131100 Mwinnthuwibh thwljui /Gpn 9| hwan 600 100 60,0
44423650 MNuyh wnpdbipwiht (ntinhub dwwywyEuwpbitin) <K hwin 600 20 12,0
31221242 M| nynuyh| /60°40 < hwn 6 1000 6,0
44163121 M funnnduily F20 pniquiwuguen < q5.0 500 40 20,0
: 44163121 M. funnyuwly F25 $niquiwywin < qd.d 710 40 28,4
__A4163121 M. funnnywy F40 $niquywuywin < qd.d 2000 12 24,0
42661200 N funnndwlh gnndwl uwpp < huwn 20000 1 20,0
44531191 Mnuéjw funnnduwl 0,800 < qdu 1500 60 90,0
44531191 Mnudjw funnnyuwly 0,220 q< qdu 4500 120 540,0
44163200 Mnudjw funnnyuwlh wulyniuwy 90 , 0,8ud < hwwn 500 20 10,0
44163200 Mnudjw funnndwlh wulyniuwy 90 , 02204 < qdu 800 25 20,0
: 44163200 Mnudjw funnnywlh bnwpwpiuhs 0,220 < hwun 1500 6 9.0
44163200 Mnudjw funnnywlih bnwpwpluhs 0,844 QL hwwn 1500 10 15,0
44163200 Mnudjw funnnywlh gnndwl wnhwny < hwuwn 400 30 12,0
44163200 Mnudjw funnnywlh Ygwdwu 0,22dd <L hwwn 500 50 25,0
42121150 Mniy 9< hwin 16000 5 80,0
44191700 Mny p|niugh L hwwn 1200 20 24,0
44191700 Mng pwhh < | hwin 1000 5 50




24911200 MAU_unupd 0,94g q< huwin 1500 5 75
44531160 Mununwly/ cemeyka G< hwwn 3 2000 6,0
44511330 Munnunwlwhwuh hwywpwdnt Q< hwun 8000 5 40,0
42131170 Qunnigdwl thwlw < hwn 1500 85 1275
39721510 Qpuinwpuignighs L hwwn 50000 2 100,0
42131170 Sph_thwlui / 3/4 4C__ | hwn 2000 10 20,0
42131170 2ph thwlwl /wnyn G< hwn 2000 30 60,0
44411110 Sph fuwnupswiht dnpwy 1 nbinwuh Q< hwwn 3000 100 300,0

4441120 2nh dnpuly biplunbinuiuh 9< | hun 10000 30 300,0

44411120 Qnh dnpwly bipyunbnwuh wwwnh dpwh < hwun 10000 20 200,0
44163170 Mtwnhut funnnyuwly dhmmqnlljldwdpw\{nn\{wé 6Lynn, tipy 60 ac o0 1000 150 150.0

44163170 fHhinhub_funnnywl ubihlyntihg a< qou 600 100 60,0

24951130 Uhihynt 2804 pwithuitighly 9| hun 1000 120 120,0
30192233 Uhihynub pwipwly dnnhly <L hwuwn 150 20 3.0
42131490 Uh$nu/ tiplwpny 4< | huwn 1200 100 120,0

44191700 Uthpbij-punip niuhybtipuw K hwwn 3000 2 6.0

24911200 Unuhtd twnpuhn 6 Ji < I 1000 5 5,0

24911300 Unuhtd bwhphp Ywd hwiwpdtip < L 2600 2 52
24911500 Unuhud pwph 0,84q < hwwn 4500 2 9,0
44192100 Dpthnip phtwpwpwlwl 8500 < | hunn 2000 20 40,0
42511124 Onwugph Swnwywn < hwun 800 25 20,0

39714100 Onwihnfuhy 9< hwn 7000 4 28,0

44511330 £ wununwlwhwl 20V < hwun 40000 3 120,0

44511370 £ wununwlwhwuh qifuplutin < hwun 400 10 4,0

43121190 Znpuinhs G| hwn 50000 3 150.0
44511400 Znpwnhsh quyihynt FS < hwun 600 10 6.0
44511400 <npwnhsh quyihynt F6 < hwun 800 10 8.0

44511400 <npwnhsh quyihynu F8 < hwwn 1000 10 10,0

44511400 <npwnhsh quyhynu F10 9L hwwn 1200 10 12,0
44511400 Znpuinhsh quihnt F12 9< | hun 1500 10 15,0

31641217 Sndpbih utindwly F16 q< hwn 20 200 4,0
31641217 Sndptih ubindwy F20 < hwwn 25 200 5.0

44511100 Ubunwnh dypwn QL hwwn 3000 3 9,0
44511370 tuwpuingubiph hwywpuidnt ot hwwn 3000 2 6.0
44191700 @pYwdlh Ywpgwnphsh dhownhp Q< hwun 100 100 10,0

44411110 2ph dnpwly dbY wnbkinwup < hwwn 3000 100 300.0

44191700 UGpwin wiwuwnhly funnnulubip Yuptne <L hwwn 5000 2 10,0
44191700 Luwnwlntph gnppki <L hwwn 2000 10 20,0
44112800 6lwhunnnduly ac hwtn 1000 40 40,0

31683400 Mywuwnhl unnnywljh Yguwiwu / inwpuipfuhy 172 < hwwn 100 50 5,0
44163200 Mywuwnhly unnnywlp Ygwdwu/ wulynitiwl 90° 172 L hwwn 100 100 10,0
44163200 MNywuwnhly funnnywlp Ygwdwu/ wugnd_1/2 <L hwwn 50 100 5,0

44163200 Mywuwnhl unnnywlh Ygwiwy/ wulynuwy 45° 1/2 QL hwwn 100 60 6,0

31683400 Mywuinhly funnnywlh Ygwiwu / Gnwpupjups 3/4 < hwwn 150 30 4.5
44163200 Mywuwnply unnnyuwlh Ygwiw/ wllyniuwy 90° 3/4 < hwwn 100 50 5,0
44163200 Udtiphywlyw wjwuwnply funnnqwyh 1/2 /dwdw K hwwn 1000 30 30,0
44163200 UditiphYwlyw wjwutnhy funnnywlh 3/4 /dwdw < hwn 1200 20 24,0

44163200 Mywuwnhly jungnqulp Ygwdwu/ ZL 172 F/dwdw 9L hwwn 500 50 25,0

44163200 My hy funnnywh Ygwdwy/ wugnd 172 F/ dudw < hwwn 400 50 20,0
44221141 nwb pnuwl wyndhub Q< hwn 6000 15 90,0
44221141 NHnwt pnbwl bplwpjw AL qnuq 3000 10 30,0
44521120 Tnwb thwlwuh Yndyyblhn thwjunjw Q< hwwn 10000 10 100,0
44531110 Munnunwly thwynh 50 dd AL hwun 10 1000 10,0

30192230 Uyny Bpyynndwup < hwun 1000 20 20,0

31221241 Hnipti| ghwubl undwpwpneh/ nnn K hwwn 30 1000 30,0
42418100 dbipbijwlh tbywu Uu dtitnp 1050 152 159.6
44221140 Uynuwihub phipdnywdpowyny nnwn uu i 120000 4,8007 576,1
44221100 Uynuihub pipdnjwipgwyny wwwnnthwl uu W’ 90000 4,1966 3777
44221100 Ubunwnwuwjwub ywinnthwl uu hwwn 25000 1 25,0
44221120 Uwwlb thwptip tinyptipn uu v’ 10000 2 20,0

44531191 hunnnyuly funpwiwpnwdal uu I} 1100 90 99,0

Cunudbip 7860,4
ELBUSPULUL UUr2ULNPNRULER, MULUSULEP, 3NPOPELER

31531660 Lbin jwdwy E27-30W < hwn 730 30 21,9

31531660 Lbin iy E27-50W < hwin 1380 30 414




31531660 LED jwdyy utipnpynn K hwin 1200 50 60,0
: 31531660 LED jwduy Ubipnpynn < hwn 4167 300 1250,1
31531660 LED |wiw wpinwphl L hwn 6400 300 1920,0
31531660 LED jwiuy wpwnwpht < huwwn 1850 30 55,5
31531660 LED jwiuy wpnwpht < hwwn 3810 70 266,7
31531660 LED jwdyy < huwn 410 150 61,5
31531660 LED jwy K hwn 1080 100 108.0
31531660 LED jwiyy < hwn 280 300 84,0
31512300 Luwiy gtipbiljwihu < hwin 600 50 30,0
31512300 Lwdy gtipbiljuyhu < hwwn 1800 50 90,0
31531210 LED |nwuwnnt 220V 100W < hwn 4800 10 48,0
31531210 LED [nwwwnni 220V 150W < hwwn 8496 10 85,0
31531210 LED |nwwnnt 220V 60W L hwwn 3300 60 198.0
31531400 LED pwh 220V 120W < hwun 85000 2 170,0
31512300 <wingbil iy 24V/25W < hwn 7000 10 70,0
31512300 Lwnqbit jwdy 22,8V 50W,G6.35 < hwwn 19000 10 190,0
31512300 Lwinghil jwiwy 24V 25W, G6.35 9< hwwn 14500 10 145,0
31512320 Pwlwntiphnghn jwdwy < hwun 2400 50 120.0
31512321 Pwlwntiphnghn jwiduy <L hwn 4800 50 240,0
31512320 Mghijyniywnnp < hwwn 75000 20 1500.0
31684400 Hwpnuwl 1nbn L hwin 300 30 9.0
31684400 Ywpnuwl Tnbin hnn. < hwun 240 50 12,0
31684400 Ywpnwl 2inkin hnn. QL hwn 500 30 15,0
31211221 Upunwpht wgwinhs 1inkin < hwtn 30 0,0
31211221 Upunwpht wiguwinhy 2inkin G hwun 324 30 9.7
31211180 Ywfunyh wugwnhy AL hwun 150 20 3.0
739713510 Upnniyh gbipdwihl wbgwinhy < hww 1500 15 225
31211221 by nwpwgnighsh wlgwinhs 1 nbin < hwin 500 50 25,0
31211221 by inwpwgnighsh wlgwinhs 2 intin Q< hwwn 700 50 35,0
31211180 Ugunndwin wugwinhs nghg 220V 16A < hwwn 510 20 10,2
31211181 Uygwnndwn wgwinhg ufpy 220V 25A < hwn 480 10 4.8
31211182 Uyunndwin wugwinhg nifhs 220V 32A < hwuwn 480 10 4.8
31211340 Lnuwuph Ywpquynphy 220V-110V 500VA 9< hwn 12000 3 36,0
39715200 £y nwpwignighsh jninny K hwwn 22200 15 333.0
39715200 | wwpwgnighsh thsnyh 9L hwun 5000 10 50,0
42211140 hunhwunguwiht | pwl ubpnpynn 4unbin wwwyt < hwwn 130000 2 260,0
39715100 Eywnpwlwl wbu 9< hwn 0 4 0,0
44423680 L (wph dwypwlw 1,5 9< hwn 5 200 1.0
44423680 £ jwph dwjpwlwy 2,5 9< hwun 5 201 1.0
44423680 £ qwph dwjpwlwy 4 QL hwun 5 202 1,0
44423680 | (wph dwjpwljw 6 < hwwn 10 200 2,0
44423680 Ey jwph Swypwlyuwy 10 9< hwtn 15 200 3,0
31341200 by qwph Ytduhly 1,5 9< huwtn 12 100 12
31341200 by jwph Ytduply 2,5 9< hwn 15 100 1.5
31341200 Ey qwph Yduhy 4 < hwn 20 100 2.0
31341200 Ef jwph Yyitdupy 6 9< hwn 30 100 3,0
731331280 Bl jwp1x15 < dbnp 93 200 18,6
31331280 E{jwp1x25 < dbinp 150 200 30,0
31331270 Ejwp2x1,5 < dbinp 135 200 27,0
31331280 bl jwp2x25 < dkinp 190 300 57,0
31331290 b wp2x4 < dbnp 366 200 732
31331280 Eljwp3x25 9< dtunp 480 200 96,0
31331280 Epjwp3x4 < dbiinp 844 100 84,4
: 31685000 Gpywpwgdwl hwnnpnwiwph qituhly 3 wntin < hwn 630 40 25,2
31685000 GpYwpwgdwl hwnnprwwph gituhl 4 intin < hwun 870 10 8,7
31651400 Uklyniuhy dwwywytiu q< hwwn 150 300 45,0
44423671 Snpb D16 < dbinp 51 200 10,2
44423671 Sndpti 20 Q< dbinp 57 200 11.4
31686100 Gnwuhl hnnwugdwl Ynuwnnipny <L hwwn 180 200 36,0
31211221 Cwpdiwl inyhs (nuwinghly) 220V 10A < hwwn 2480 5 12,4
31211221 $nwnn indhg 220V 16A < hwin 1550 5 7.8
39714200 Onnpuwlpy uu hwn 270000 1 270,0
Cunwdbup 8413,6
B dunsLhe
9132200 Pbughu, nbigniywp < {hwp 510 16000 8160,00
9134200 “Hhabijwht Jwnbihp, wdwnwjhl 9L {hwp 0 6000 0,00




9134200

byt qunbijhp, wiwnwjpt [ a< T ihp | 540 [ 2000 [ 1080,00
Cunwikip | 9240,0
UdsSNUELELULLLh MUKBUSUUUUGT
31421100 Uwpunlyng wyunndbipbiuugh [ uu T hwn [ 40000 ] 4 160.0
_ Lunwdkp 160,0
U3964NrouuuL L3NkELN
24441100 Ugnunwjhl wwpwpuwljnip uu lg 250 50 12,5
44921200 Yhp Uu Ug 200 30 6,0
33691147 3niuwbyniplip/pniiwphihlwn uu |hwp 13000 7 91,0
Cunwdbup 109,5
. uchusuvLeusr
45231119 Thuph dwutwyh Ypwunpngiwl wpluwnwupubip <PU npwy 163160700 1 163160,7
i TFUGAN, WwnnthwUueRh & hwpw(hg pununphsuGpp
) 45421110 wliniinpni; haduuwpwinig uu npwd 997500 1 9975
45331113 Onnpwldwt hwiwlwpgbiph wbnunpdw wyluwnwuputip i A 166000 ! 1660
TwlEplnipwpl wpfuwinwipbip fubwpwpny
) 45231185 Swiwwwphubiph hwiwp uu npwd 300000 1 300,0
. TGnhwunip Jhuwpupwlul wyliwnwuputn/ uGUpGRR
A 45221142 alwpnfunud < npwd 1332900 1 13329
~ Cunwdbup 165957,1
TUMU3NkE3NRLLEN
79821170 Sywgpuwlwl b wnwplwl dwnwjnypjniuutip q< hwwn 3659000 1 3659,0
gos;320 | Pdwbnuwbinguyhl punbuth hudwewgnnudthafuwnpnid, | g ¢ huwn | 24840000 1 24840,0
2 __nsbiswgnud
71351540 Shuthywlwu hulnnnipjwl dwnwjnip)niulitip < npwd 770000 1 770.0
50111130 Ugwndbipbuwubiph Ybpwunpnguwl dwnwjnipjniuubip < npwy 4000000 1 4000,0
79211150 Uninhnnpuiljwl dwnwjnipniu < hwuwn 1440000 1 1440,0
79411140 Uwpnlwiht nbunipuubph jwnwywpdwl dwnwjnipjniu uu npwd 990000 1 990,0
79211210 Cwpywywhwlwl Ypwhuynnnipyniu uu npuwd 990000 1 990.0
7911100 hpwywpwbwlwl dwnuwjnygjniuubin uu npwd 1000000 1 1000.0
75111200 Opbbunpuwlwl dwnwjnip)niu uu npwd 990000 1 990,0
32411130 Lwdwguig uu hwin 936000 1 936,0
3241130 Lwilwguwlg uu hwwn 60000 1 60,0
65311100 Elyunpwy Rjwl pwfunud uu npwd 85640000 1 85640.0
65211100 Sugh puigfunud uu npwd 17700000 [ 17700,0
65111100 tudbiniu oph puptunud uu npwyd 12000000 1 12000,0
64211120 Uhgpwnuwpwihl htinwtunuwhl Swnuwjnipjniuutip uu npwd 1170000 1 1170,0
90511120 Yhugwnuwiht wnph hwwpwgpiwl dwnwjnipjniuutin uu npwd 2700000 1 2700,0
50421100 Fdzluluils uuipgtinh dEpuibnnngUul i uuhupubiu Uu | npws | 6000000 1 6000,0
Swnwinip|niuub .
50111300 Uugwnnntiph Jpwinpngiwl dwnwjnipjniuutbip” ubipwnjw Uu b 80000 i 80.0
Untnwdnud b hwywuwpwlpnnu
50111180 Uyuindbipbwbibiph (Jwgdwl dwnwjnipjniuutip uu npwd 100000 1 100,0
50851100 Ywhnyph Ytpwunpngdwl Swnwjnip)niuitip Uu hwin 980000 1 980,0
45511100 Uywnwpunwpulh dwnw)nygjniu uu hwwn 100000 1 100,0
50751100 JYbpbiwlubiph Unpnqdwl Swnwynipjniu uu hwn 310000 1 310,0
TEnbruBeh thAnawot - =
50751100 PBWLUBRR Fnpdupbunipjuil uupwuwpan wbSbWlwad |y | iy 290000 i 290,0
dipwwwinpwuwnnd
50311240 | MwnGbuwhwunn uwpptiph Ytpwunpnquwl dwnwjnipjniuutin uu hwn 990000 1 990,0
i 72212300 Yw)pbiph wpnhwlwlwgdwl dwnwnip)niu uu hwun 884000 1 884,0
72411110 LR TR DL WSRO Uu | hwn | 904000 i 904,0
= ___ dwnwinipiniy
79521100 Muwbbuwhwudwl dwnwynip)niu uu hwin 750000 1 750,0
50531150 Qwquyht uwppliph wwhywudwl dwnwjnipjniu uu hwwn 300000 1 300,0
90921300 UnUtitnubiph nbd wwypwph dwnwynipjniuiutip uu hwwn 480000 1 480,0
79341100 Snywqnuyht Swnwjnipjniu uu hwwn 700000 1 700,0
66511180 Twndhsubipny thnfuwnpwidhgngubiph wwwhnywgpdwt b Ul npuwd 96500 1 9.5
: wnbifuquudwl dwnwinup|ntu
92421100 Tonptnall iwpnLnuAinmuLbnh nugiD uu | pwe 956000 1 956,0
___dwnwinipini
50341500 Utunwlignipjwl nbuwfughlubiph uywuwplynid / UOU-SOS uu npwd 180000 1 180,0
64111200 Pnunwht dwnwynipniutitip’ Yuiwywsd bwdwlutiph htin Uu npuwd 150000 1 150,0
79951100 Uhgngwnnuwiubiph htin fuiwyywd dwnwjnipniutitip uu npwd 994000 1 994,0
50311300 Kl - ""‘“"”‘"L"“:“’htgznb:‘:‘;‘h"h il uu | opwd 220000 1 220,0
= Jujwuwpyni




66131100 Updtipnpetiph htitn Yuwwsd dhgunpnnipwl dwnwjnipjniu uu nnwd 72000 1 72,0
progr g services of and user software
72211100 /hwdwlwnqgbiph U oginwgnpdnnh dpwgptiph dpwldwl uu npwyd 3390000 1 3390.0
& 2
programming services of systems and user software
72211100 Mhusdulyuinglinh L ogunwqnndnnh nugntinh dpwljdui uu | ppwd | 11500000 1 11500,0
dwnwinupiniutip/iEynpnbwiht wnnngwwwhwlwu
huniwluunah Lnud-Unifkin
75241100 Nunhlwunipjwl Swnuympniutbiph / pupwujnyatiph Uu ol 600000 i 600.0
wibiliop|w wwhwwunipiniu
75241200 Nuinhlwunipjwl Swnwjnipjniiubp uu npwd 996000 1 996,0
85141240 PO gAYy AL Uu | npwd 900000 1 900,0
Sdwnwinipintl
2163110 Uwppbiph unnigidwl dwnwynipyniutibn / uwpp. wbfu. uu i 850000 i 850.0
- uwnnignud, nnguisws nuf]u wihwgpnud
Pdolwlwu hhduwplutiph Ynndhg dwinnigynn dwnwjnip)nit/
8514124 137 1 51370
. 4 Uhopnidhhduwpluwihtt dwnwinipiniu uu il 2137000 2
50111130 Uyundtipbiwbbiph Jbpwtinpnguwl dwnuwjnipjniuby uu hwin 100000 1 100,0
63721180 Cwdwlwu opiljinutiph dnuhpnphuquht/ Uwihqwghnu Ul Bl 6000 10 60.0
Swnwinip|niu
44423300 Plinuwthnfuwnpnid uu npwd 100000 1 100,0
50531110 Qbnnigiwl_Ywpuwh Ybpwunpngnud uu npwd 160000 1 160,0
45251167 FpYwduh Ywjwuh Ybpwunpngiwl dwnwynipjniu uu npwd 520000 1 520,0
63521200 Pbnubtiph thnfuwnpdwl Swnwnigniu uu npwd 800000 1 800,0
Sujhsh dpwgnuiht phpniejnuLtiph YEpwgiwl Spwgpuwht
1 A
48981700 el uu hwn 50000 50,0
71311180 Lwhiwgdwlwhwhw)yuwht thwuwnwpnptiph fuginu uu npwd 560000 1 560,0
64235180 Cbnnwunwhwnnprnuiubph hinwpdwlydw dwnwynipiniu uu hwun 980000 1 980,0
71251100 Quihwgpnipniu, gdwgpbiph Ywqunud uu npwd 120000 1 120,0
71251100 Sbnnlighwlwu dwnuynipjniu uu npwd 300000 1 300,0
98391200 (33|wdlwht hwdwlwpgh Ununwdiwl wluwnwlpunp uu npwd 709500 1 709,5
Cunwdbup 222254,0




